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Note :

A-00

Paper — |
o This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
o Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

Select the alternative which consists of positive factors contributing to effectiveness of
teaching :

List of factors :

(@) Teacher’s knowledge of the subject.

(b) Teacher’s socio-economic background.

(c) Communication skill of the teacher.

(d) Teacher’s ability to please the students.

(e) Teacher’s personal contact with students.

()  Teacher’s competence in managing and monitoring the classroom transactions.
Codes :

(1) (b), (c) and (d) (2)  (c), (d)and (f)
(3) (b), (d) and (e) (4)  (a), (c) and (f)

The use of teaching aids is justified on the grounds of
(1) attracting students’ attention in the class room.

(2) minimising indiscipline problems in the classroom.
(3) optimising learning outcomes of students.

(4) effective engagement of students in learning tasks.

Assertion (A) : The purpose of higher education is to promote critical and creative
thinking abilities among students.

Reason (R) : These abilities ensure job placements.

Choose the correct answer from the following code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

Match the items of the first set with that of the second set in respect of evaluation system.
Choose the correct code :

Set-1 Set-11
a. Formative evaluation I. Evaluating cognitive and co-cognitive
aspects with regularity
b.  Summative evaluation ii.  Tests and their interpretations based on a
group and certain yardsticks
c.  Continuous and iii.  Grading the final learning outcomes

comprehensive evaluation
d.  Norm and criterion referenced iv. Quizzes and discussions

tests
Codes :

a b c d
@) v i i ii
(2) i i i v
(3) iii v ii i
4) i i iv ii
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A researcher intends to explore the effect of possible factors for the organization of
effective mid-day meal interventions. Which research method will be most appropriate for
this study ?

(1) Historical method (2) Descriptive survey method

(3) Experimental method (4) Ex-post-facto method

Which of the following is an initial mandatory requirement for pursuing research ?
(1) Developing a research design

(2) Formulating a research question

(3) Deciding about the data analysis procedure

(4) Formulating a research hypothesis

The format of thesis writing is the same as in
(1) preparation of a research paper/article

(2) writing of seminar presentation

(3) aresearch dissertation

(4) presenting a workshop / conference paper

In qualitative research paradigm, which of the following features may be considered critical ?
(1) Data collection with standardised research tools.

(2) Sampling design with probability sample techniques.

(3) Data collection with bottom-up empirical evidences.

(4) Data gathering to take place with top-down systematic evidences.

From the following list of statements identify the set which has negative implications for

‘research ethics’ :

(1)  Arresearcher critically looks at the findings of another research.

(i)  Related studies are cited without proper references.

(iii) Research findings are made the basis for policy making.

(iv) Conduct of practitioner is screened in terms of reported research evidences.

(v) A research study is replicated with a view to verify the evidences from other
researches.

(vi) Both policy making and policy implementing processes are regulated in terms of
preliminary studies.

Codes :
@) (i), (i) and (iii) (2) (i), (iii) and (iv)
(3) (i), (iv) and (vi) (4) (i), (iii) and (v)

In a research on the effect of child-rearing practices on stress-proneness of children in
completing school projects, the hypothesis formulated is that ‘child rearing practices do
influence stress-proneness’. At the data-analysis stage a null hypothesis is advanced to
find out the tenability of research hypothesis. On the basis of the evidence available, the
null hypothesis is rejected at 0.01 level of significance. What decision may be warranted
in respect of the research hypothesis ?

(1) The research hypothesis will also be rejected.

(2) The research hypothesis will be accepted.

(3) Both the research hypothesis and the null hypothesis will be rejected.

(4) No decision can be taken in respect of the research hypothesis.
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T & A STHEE H DA G UFIT 39 3T % {ofT warad gr ?
(1) Tfderas ugia (2) ST FEEI0T YT
(3) VAN Uid (4) HERR Ygid

6. Y HH & forw F=faifad § & i dF SRS SAfamddr S 3107 & 2
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(3) ¥y & oTERNY-Ed | (4) FHERCT/ A B og T&qd HET |

8.  TUTIcHe Iy & Uiqa H, ffeifad & & i 9t faeiodT sl He<eror JHT ST Tl € ?
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@ (), (i) 3% (i) @) (i), (iii) 3% (iv)

3) (i), (iv) 3 (vi) @ (i), (iii) 3 (v)

10. forRmerg-afiEisHT ® g0 A § Soai st Ufdeel el W Y] ulet 2eer & T Se 9 |,
i afeream @ & T ‘R UTe SRR @1 UideeT Sl W STEvd WE ggdl § I R
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ST & | ¥ UReheAT & HeY | 9 o STt € 2
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(2) I URSHIAT i THR HaT ST |
(3) vy URSETAT SR I UREETT I Sl SEHR o e |
(4) Y URCIT % WY H HIE U &l forar ST ekl & |
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Read the following passage carefully and answer question numbers from 11 to 16 :

In terms of labour, for decades the relatively low cost and high quality of Japanese workers
conferred considerable competitive advantage across numerous durable goods and consumer-
electronics industries (eg. Machinery, automobiles, televisions, radios). Then labour-based
advantages shifted to South Korea, then to Malaysia, Mexico and other nations. Today, China
appears to be capitalizing best on the basis of labour. Japanese firms still remain competitive in
markets for such durable goods, electronics and other products, but the labour force is no longer
sufficient for competitive advantage over manufacturers in other industrializing nations. Such
shifting of labour-based advantage is c[earlty not limited to manufacturing industries. Today, a huge
number of IT and service jobs are moving from Europe and North America to India, Singapore, and
like countries with relatively well-educated, low-cost workforces possessing technical skll_ls.
However, as educational levels and technical skills continue to rise in other countries, India,
Slnﬁapore, and like nations enjoyln% labour-based competitive advantage today are likely to find
such advantage cannot be sustained through emergence of new competitors. )

In terms of capital, for centuries the days of gold coins and later even paper money restricted
financial flows. Subsequently regional concentrations were formed where large banks, industries
and markets coalesced. But today capital flows internationally at rapid speed. Global commerce no
longer requires regional interactions among business players. Regional capital concentrations in
places such as New York, London and Tokyo still persist, of course, but the capital concentrated
there is no longer sufficient for competitive advantage over other capitalists distributed worldwide.
Only if an organization is able to combine, integrate and apply its resources (eg. Land, labour,
capital, IT) in an effective manner that is not readily imitable by competitors can such an
organization enjoy comﬂetltlve advantage sustainable overtime. o

In a knowledge-based theory of the firm, this idea is extended to view organizational knowledge as
a resource with atleast the same level of power and importance as the traditional economic inputs.
An organization with superior knowledge can achieve competitive advantage in markets that
aﬂpremate _the application _of such knowled?_e. Semiconductors, —genetic  engineering,
pharmaceuticals, software, military warfare, and like knowledge-intensive competitive arenas
provide both time-proven and current examples. Consider semiconductors (e.g. computer chips),
which are made_pr|n0|pa_llﬁ/_ of sand and common metals. These ubiquitous and powerful electronic
devices are designed within common office buildings, using commercially available tools, and
fabricated within factories in many industrialized nations. Hence, land is not the key competitive
resource in the semlconductorlndustr?/. ] )

Based on the passage answer the following questions :

11.  Which country enjoyed competitive advantages in automobile industry for decades ?
(1) South Korea (2) Japan
(3) Mexico (4) Malaysia

12.  Why labour-based competitive advantages of India and Singapore cannot be sustained in IT
and service sectors ?
(1) Due to diminishing levels of skill.
(2) Due to capital-intensive technology making inroads.
(3) Because of new competitors.
(4) Because of shifting of labour-based advantage in manufacturing industries.

13.  How can an organisation enjoy competitive advantage sustainable overtime ?
(1) Through regional capital flows.
(2) Through regional interactions among business players.
(3) By making large banks, industries and markets coalesced.
(4) By effective use of various instrumentalities.

14.  What is required to ensure competitive advantages in specific markets ?
(1)  Access to capital (2) Common office buildings
(3) Superior knowledge (4) Common metals

15. The passage also mentions about the trend of
(1) Global financial flow
(2)  Absence of competition in manufacturing industry
(3) Regionalisation of capitalists
(4) Organizational incompatibility

16.  What does the author lay stress on in the passage ? o )
(1) International commerce (2)  Labour-Intensive industries
(3) Capital resource management (4) Knowledge-driven competitive advantage

A-00 6
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17. Imagine you are working in an educational institution where people are of equal status.
Which method of communication is best suited and normally employed in such a context ?

(1) Horizontal communication
(2) Vertical communication
(3) Corporate communication
(4) Cross communication

18. Identify the important element a teacher has to take cognizance of while addressing
students in a classroom.

(1) Avoidance of proximity
(2) Voice modulation

(3) Repetitive pause

(4) Fixed posture

19.  What are the barriers to effective communication ?
(1) Moralising, being judgemental and comments of consolation.
(2) Dialogue, summary and self-review.
(3) Use of simple words, cool reaction and defensive attitude.
(4) Personal statements, eye contact and simple narration.

20. The choice of communication partners is influenced by factors of
(1) Proximity, utility, loneliness
(2) Utility, secrecy, dissonance
(3) Secrecy, dissonance, deception
(4) Dissimilarity, dissonance, deviance

21. As ateacher, select the best option to ensure your effective presence in the classroom.
(1) Use of peer command
(2) Making aggressive statements
(3) Adoption of well-established posture
(4) Being authoritarian

22. Every communicator has to experience
(1) Manipulated emotions
(2) Anticipatory excitement
(3) The issue of homophiles
(4) Status dislocation

A-00 8
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In certain code, SELECTION is coded as QCJCARGML. The code of AMERICANS will
be

(1) YKCPGAYLQ

(2) BNFSJDBMR

(3) QLYAGPCKY

(4) YQKLCYPAG

In the series

3,11, 23, 39, 59, ..........

The next term will be

(1) 63 2 73
(3) 83 (4) 93

Two railway tickets from city A to B and three tickets from city A to C cost ¥ 177. Three
tickets from city A to B and two tickets from city A to C cost ¥ 173. The fare for city B
from city A will be

(1) 25 (2) 27

(3) 30 4) 33

A person walks 10 m infront and 10 m to the right. Then every time turning to his left, he
walks 5, 15 and 15 m respectively. How far is he now from his starting point ?

(1) 20m (2) 15m

3 10m (4 5m

A is sister of B. F is daughter of G. C is mother of B. D is father of C. E is mother of D. A
is related to D as

(1) Grand daughter (2) Daughter
(3) Daughter-in-law (4) Sister

In the series

AB, EDC, FGHI, ....2...., OPQRST, the missing term is
(1) JKLMN (2) JMKNL
(3) NMLKJ (4) NMKLJ

Among the following propositions two are related in such a way that one is the denial of
the other. Which are those propositions ? Select the correct code :
Propositions :

(@) All women are equal to men

(b) Some women are equal to men

(c) Some women are not equal to men

(d) Nowomen are equal to men

Codes :

(1) (a)and (b)

(2) (a)and (d)

(3) (c)and(d)

(4) (a)and(c)

10
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i %2 §, SELECTION %1 %2 QCICARGML &, AMERICANS %7 %2 &1

(1) YKCPGAYLQ (2) BNFSIDBMR
(3) QLYAGPCKY (4) YQKLCYPAG
SIEl]

3,11, 23, 39,59, ...

T 3T | g

(1) 63 2) 73

(3) 83 4) 93

AT B I8 &l g1 IeT fehel 3T A W C 98T i i {7 feehel i hiad T 177 ¢ | A9 B =T !
T fewmel 3T A 9 C W8T &l 51 fehel ol g T 173 TUU & | 3T A 9§ WeY B & fow femmn
B

(1) %25 (2) T27

(3) %30 (4) %33

TS AT 3T TE 1 3R 10 HieX 3R et 3T 10 HieX Fotdn & | R 9 370 st 21 ge-
e HUTT; 5, 15 3R 15 HieX TIotal & | 98 39 99T 310 TR g § fohet 380 W & 2

(1) 204 (2) 154

(3) 104 (4) 54

ABH TS F,GH T, C,BH Tmar ¢, D, C & Tar &, E, D &l A1 &, A % D § oy
%—.

(1) s ehex () (2) X @

(3) SieTEA-l (T-aY) (4) TORT (F6)

et AB, EDC, FGHI, ....2...., OPQRST H &7 g7 U% & :

(1) JKLMN (2) JMKNL

(3) NMLKJ (4) NMKLJ

frefafea sy § 3t 39 YR Tafed € i o T o THERES © | 3 e HA-g
£ 7 TE P T T HINT

rfireper

(a) T O oot % SRR Bl & |
(b) F® Hfeemd TEu & aER Bt € |
(c) T Afeed J6T o SREX T&l &l ¢ |
(d) =g ot AfeeT G0 % SRR T&l el & |

&<
(1) (a) 3R (b) 2) (a) 3R (d)
3 (c) &R (d) 4 (a) @R (c)

11 P.T.O.
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31.

32.

33.

34.
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If the proposition *All thieves are poor’ is false, which of the following propositions can
be claimed certainly to be true ?

Propositions :

(1) Some thieves are poor.

(2) Some thieves are not poor.

(3) No thief is poor.

(4) No poor person is a thief.

Consider the following statement and select the correct code stating the nature of the
argument involved in it :

To suppose that the earth is the only populated world in the infinite space is as absurd as
to assert that in an entire field of millet only one grain will grow.

(1) Astronomical (2) Anthropological
(3) Deductive (4) Analogical

Select the code which is not correct about Venn diagram :

(1) Venn diagram represents propositions as well as classes.
(2) It can provide clear method of notation.

(3) Itcan be either valid or invalid.

(4) It can provide the direct method of testing the validity.

Select the code which is not correct in the context of deductive argument with two
premises :

(1) Anargument with one true premise, one false premise and a false conclusion may be
valid.

(2) Anargument with two true premises and a false conclusion may be valid.

(3) Anargument with one true premise, one false premise and a true conclusion may be
valid.

(4) Anargument with two false premises and a false conclusion may be valid.

Given below are two premises and four conclusions are drawn from them (taking singly or
together). Select the code that states the conclusions validly drawn.

Premises : (i)  All religious persons are emotional.
(i) Ram is a religious person.
Conclusions: (a) Ram is emotional.
(b)  All emotional persons are religious.
(c) Ram is not a non-religious person.
(d) Some religious persons are not emotional.

Codes :
(1) (@), (b), (c) and (d)
(2) (a) only

(3) (a)and (c)only
(4) (b)and (c) only
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Tie TE AMHIT o “THf IR TG Bid &7 Told § o Eerad § 9 fee sfvne % gy |
ffeea &0 9 @&l &1 1 <re fopan S gehdr € 2

arfireper
(1) FSIRRTEAE | (2) FT AR RIS TRl 8§ |
(3) T W IR WIS TR BT | (4) I TS EH AR TET BT |

frfaiad %o W fTar ST 37 360 ST T 0 1 T Sooid Fid g¢ el He H 7a
FHIfT ;

Tg AT AT {oh T 3 Siaiet § gedlt & U ol gt 3T &, U TG e ¥ S 9% foh
AR & ©d | Hael Th AT ST |

(1) wedE (2) wFERTEE

(3) FrTHATES (4) WEYIHR

SH e I AT BT ST o SEUH & G H TEl TE ¢ |
(1) oF W vkl iR Afvrat it e war g |
(2) T& GohdH I T UFIT ST HT Tohel ¢ |

(3) & AY A7 A B HeheAT & |

(4) TE ST RISTOT i TeaeT T5Td SUTsd Y bl & |

39 2 I II HISTT, ST 3T SRS aTet AT qh & UG § Tt T8l & -

(1) TS T&l STYUR-aTH, Teh TToid SMER-aTe 3R T TTeid (kY aTell deh, 9y & b1 € |
(2) T HE SMUR-STN 3R Uh Tord (5hy dTelT a9k 9y &1 el § |

(3) UH el MR-, Ueh ToTd SMEN-ATHR 3R Tk el Feht a1eTl deh I & Fehell € |
(4) T IO SMER-STERT ATAT T 3R Tk TTeld Fshy 94 &1 TehelT & |

= B eTaRaER KU U § ST S 9N e f 0 § (S STenT- e A1 us 9 forg T §) |
39 P I TIT HIT, ST Jg 7T AT & 1o (e 99 T H fqu MU E |

AT : (i) T e St A1 &l € |
(i) W U efhek =t € |

freny (8) TMAGHE |
(b) Tt g AT i &l & |
(c) ™ U 3HE AT & € |
(d) F= i =l e el 8l € |

&<
(1) (@ (). (©) #% (d) (2) % (a)
(3) T (a) 3 () (4) %= (b) ¥ (c)

13 P.T.O.



The following table shows the percentage profit (%) earned by two companies A and B
during the years 2011-15. Answer questions 35-37 based on the data contained in the table :

Where, percent (%) Profit =

35.

36.

37.

A-00

Profit earned by two companies

Percentage Profit (%0)

Year

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

Income — Expenditure

%100

Expenditure

If the total expenditure of the two companies was ¥ 9 lakh in the year 2012 and the
expenditure of A and B were in the ratio 2 : 1, then what was the income of the company

A in that year ?
(1) T9.2lakh
(2) T8.1llakh
(3) T7.2lakh
(4) 6.0lakh

What is the average percentage profit earned by the company B ?

(1) 35%
2) 42%
(3) 38%
4)  40%

In which year, the percentage profit earned by the company B is less than that of company

A?
(1) 2012
(2) 2013
(3) 2014
(4) 2015

14



frafataa arfaer # a¥ 2011-15 &% SR A AT B AW 3 HAHal gRT ATTd a1 &
TFTSTaaT (%) TIME TS T | W9 35-37 T I ATfeTehT | fIT Ue= & e o7 AT |

T Hufaat gRT A e
" AT Tt AfT9TAaT (%)

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

TR, B A AT (%) T = ———— x 100

35. I 31 HufET 1 et T 2012 H 9 MG T 7 3T A 3R B % FF I SFAC 2 ¢ 1 AT, dr
3T 99 H HUAT A i ST 4 A 0

(1) %92 wmg 2) 8.1

(3) 727ma 4) 6.0

36. U B §RT AT AT Y 3 Ufwraar 7 € 2
(1) 35 wfaee (2) 42 viaeE
(3) 38 Wicrwr (4) 40 wferer

37. @ o9 § HU B §RT 310 oI bl STAeiadr, Shael A §RT 3T1STd oI ! HTaerddl 9 A & 2
(1) 2012 (2) 2013

(3) 2014 (4) 2015

A-00 15 P.T.O.



The following table shows the number of people in different age groups who responded to
a survey about their favourite style of music. Use this information to answer the questions
that follow : (Question 38-40) to the nearest whole percentage :

38.

39.

40.

41.

42.

43.

44,

A-00

Number of people
Age — | (Years) | (Years) | (Years)
Style of 15-20 21-30 31+
Music {
Classical 6 4 17
Pop 7 5 5
Rock 6 12 14
Jazz 1 4 11
Blues 2 3 15
Hip-Hop 9 3 4
Ambient 2 2 2
Approximately what percentage of the total sample were aged 21-30 ?
(1) 31% (2) 23%
(3) 25% (4) 14%

Approximately what percentage of the total sample indicates that Hip-Hop is their
favourite style of music ?

(1) 6% 2)

(3) 14% 4)

What percentage of respondents aged 31+ indicated a favourite style other than classical
music ?

(1) 64% (2)

3) 75% 4)

The statement “the study, design, development, implementation, support or management
of computer-based information systems, particularly software applications and computer
Hardware” refers to

8%
12%

60%
50%

(1) Information Technology (IT)

(2) Information and Collaborative Technology (ICT)
(3) Information and Data Technology (IDT)

(4) Artificial Intelligence (Al)

If the binary equivalent of the decimal number 48 is 110000, then the binary equivalent of
the decimal number 51 is given by

(1) 110011 (2) 110010
(3) 110001 (4) 110100
The process of copying files to a CD-ROM is known as
(1) Burning (2) Zipping
(3) Digitizing (4) Ripping
An unsolicited e-mail message sent to many recipients at once is a
(1) Worm (2) Virus
(3) Threat (4) Spam
16



Frafafae Aiferer # TR SAerT-3erT og WHE | A i guirar T €, i s uHe & w6t
Jiell % Were § Ry Ty weeror # IR fE@r | 39 gEAn &y A & T uee (38-40) # SWR A
% T HIAT | S I Frbeaw qot nirere & SR W E

38.

39.

40.

41.

42.

43.

44,

A-00

AT W |
g | (@) () ()

L uic 15-20 21-30 31+

1 Hett |

I 6 4 17

g 7 5 5

EED 6 12 14

Sl 1 4 11

=TT 2 3 15

feu-gta 9 3 4

Uit 2 2 2
o1 UFIReT ST ST fefeT wifereTet 21-30 3T & & ?
(1) 31% (2) 23%
(3) 25% (4) 14%
T ATAGST T TR FeheT Ut 8 Tl S ¢ o f§U-8T0 S9eh! T8 o Tl 91t & ?
(1) 6% (2) 8%
(3) 14% (4) 12%
31+ 3T & STRGIATSH o Tohe UfeTeTd = I Sl & feT TigiaT Siedt bt SR foham & 2
(1) 64% (2) 60%
(3) 75% (4) 50%

g U — “HI NN T FoTelt Tl 3T, 3Afiehed, T, ohareae, TS a1 vee,
(1) g Wit (3ME2) 9 |

(2) FEAT SR UTTHWT SN Wbl (SMEHE) T |

(3) e 3R UG WRIfTeh! (SMEEA) |

(4) FEW s @atE) F |

T T T 48 T fF3maR! ¥qed 110000 &, T STRIHeh T 51 %1 53Rt 9qed &
(1) 110011 (2) 110010

(3) 110001 (4) 110100

TSt AT T HIEA I BT I Bl UTehaT BT TF STHT STIT €

(1) s (2) Tafew

(3) fefserim (4) R

HE UTAhATS T XA ST AT AT $-Het bl el STl &

(1) = (2) =

3) %= (4) wm

17 P.T.O.
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46.

47.

48.

49.

50.

51.

52.

A-00

IS a type of memory circuitry that holds the computer’s start-up routine.
(1) RIM (Read Initial Memory)
(2) RAM (Random Access Memory)
(3) ROM (Read Only Memory)
(4) Cache Memory

An ASCII is a character-encoding scheme that is employed by personal computers in
order to represent various characters, numbers and control keys that the computer user
selects on the keyboard. ASCII is an acronym for

(1) American Standard Code for Information Interchange

(2) American Standard Code for Intelligent Information

(3) American Standard Code for Information Integrity

(4) American Standard Code for Isolated Information

Identify the air pollutant in urban areas which irritates eyes and also respiratory tract of
human beings.

(1) Particulate matter (2) Oxides of nitrogen

(3) Surface ozone (4) Carbon monoxide

Which of the following is the largest source of water pollution in major rivers of India ?
(1) Untreated sewage

(2) Agriculture run-off

(3) Unregulated small scale industries

(4) Religious practices

Sustainable development goals have specific targets to be achieved by

(1) 2022 (2) 2030
(3) 2040 (4) 2050

Indian government’s target of producing power from biomass by the year 2022, is
(1) 50MW (2) 25 MW

3 1MW (4) 10 MW

Assertion (A) : Conserving our soil resources is critical to human survival.
Reason (R) : Soil is home to many micro-organisms and contains minerals.
Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

World Meteorological Organisation’s (WMO) objective has been to reduce the number of
deaths due to hydrometeorological disasters over the decade 2010-2019 by (with reference
to the decade 1994-2003)

1) 25% 2) 50%
(3) 75% (4) 80%
18
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46.

47.

48.

49.

50.

51.
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AR Fichet T Ueh TR €, ST P o TWIE-3TT T i TRUT Hl & |
(1) SARIMETA, (s TV THRY)

(2) IRTUH. (ST TR U

(3) SAR.3NTH. (IS el HHRY)

(4) 3 AARY

T.UH 37T, 31TE. Ueh hiae UA-HITST WhiF &, ST aiokish e R AT i STt & e o
fafir=T e, Teemett X T STt i e far ST T, TH FHIeT UFie Hi-ae T
T AT &, TOH L3 3TE, o fo wep wehifm (aieth) & |

(1) o % SAaHTg & foTT TRi! AHS HiS

(2) FETAYYT oA & T ST I S

(3) I H AR % feTT TR I hie

(4) 9% G % AU SR U e

IR S % U g WSUP I THRd i, fEE o @i st ST g Folt § Sor el
T

(1) fafere gerel (ufespere ) (2) TS I SARATES

(3) T A (4) AT AHEFIEES

YR ot TSIl A § et FGuUT 1 AT | § Ted gl S o1 € ?
(1) IrHayd Aerstet

(2) HT G TA-ETE

(3) afmf o se

(4) e Afq-Rems

HO TR 61 o1 frfetad § 9 6 a9 d U i 1 O o8 & ?
1) 2022 2) 2030

(3) 2040 (4) 2050

Y 2022 T TR I T SeIe & WHR Fl oo &

(1) 50®=am (2) 25"

(3) 15®am (4) 10¥ar

At (A) :  THR YT HETEAT T GRI0T TG e o el Hgeqol € |
% (R) ;ST e ge Sl 1 a1 € SR 39E G © |

TE P H TI HIT ;

(1) (A) 3R (R) I & € 3R (R), (A) Tl T&t AT |

(2) (A) 3R (R) 51 W@l €, e (R), (A) ot Tel =1 el ¢ |
(3) (A) T T R (R) T & |

(4) (A)Ted § 3R (R) Wl ¢ |

Toreer By e (S9,UH. 31.) T 33I9F 2010-2019 T 3 H STA-HIGH (BTG HISIS RIS o)
3MT3TT & HRUT G i F&AT (1994-2003 % I i JoiT H) feheT o 3T § 2

(1) 25% 2) 50%
(3) 75% (4) 80%
19 P.T.O.



53. Which of the following core values among the institutions of higher education are
promoted by the NAAC (National Assessment and Accreditation Council) ?
(@) Contributing to national development.
(b) Fostering global competencies among the students.
(¢) Inculcating a value system among students and teachers.
(d)  Promoting the optimum utilization of the infrastructure.
Select the correct answer from the codes given below :

Codes :
(1)  (b), (c) and (d) (2) (a), (b) and (c)
(3) (a),(c)and (d) (4) (a), (b), (c) and (d)
54. The best way for providing value education is through
(1) discussions on scriptural texts (2) lectures / discourses on values

(3) seminars / symposia on values (4) mentoring / reflective sessions on values

55. The National Judicial Appointments Commission (NJAC) has been declared
unconstitutional by
(1) The Supreme Court of India
(2) The High Court
(3) The High Court and the Supreme Court both
(4) The President of India

56. Which of the following statements about the Indian political system is/are correct ?
(@) The President is both Head of the State and Head of the Government.
(b) Parliament is Supreme.
(c) The Supreme Court is the guardian of the Constitution.
(d) The Directive Principles of State Policy are justiciable.
Select the correct answer from the codes given below :
(1) (a), (b), (c) and (d) (2)  (b), (c) and (d)
(3) (b)and(c) (4) (c)only

57. Which of the following are the fundamental duties ?
(@) To respect the National Flag.
(b) To protect and improve the natural environment.
(c) For a parent to provide opportunities for education to his/her child.
(d) To protect monuments and places of national importance.
Select the correct answer from the codes given :

Codes :
(1) (@), (b) and (c) (2) (@), (b) and (d)
(3) (a), (c) and (d) (4) (), (b), (c) and (d)

58. Which of the following statements are correct in respect of Niti Aayog ?
(@ Itisa constitutional body.
(b) Itisa statutory body.
(c) Itis neither a constitutional body nor a statutory body.
(d) Itisathink-tank.
Select the correct answer from the codes given below :
(1) (a)and(d) (2)  (b)and (d)
(3) (c)and(d) (4)  (b), (c) and (d)

A-00 20



53.

54,

55.

56.
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58.
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o foreT B TS § AT HoAh U UeAEH GRS (Ah) FRT HEfeiad § § fhT s
o i agran fan mn ¢ ?

(a) UL g | 31asH

(b) Toenfémi & Afvere waioTarett 1 T

(c) Toenfémr X sreamgent o Yog-saeT foshiad et

(d) smenfier Gfaenen & an SUAN i T@E A7

T 3T et & el SR A1 94 HINIT

A

1) (b), (c) 3R (d) 2 (a), (b) 3R (c)

3) (@), (0) 3R (d) 4 (@), (b), () = (d)

oo TOTeT UEH X T FAH RIS &

(1) TS e W g (2) T W A/ AREARIEE e
(3) TeAl W AT (4) VoA W AT T/ =i T

T =Tk g ST (TAST.UHT) i FterEd | e sreaun-es =i foan & 2
(1) 9RA & I=adq =A=Ee 3

(2) 3= =R A

(3) ST A 3 STUAH e ST A

(4) 9RA & TgAid A

TR TR e & Fere H g § @ i-am8 Fu- T e/ ?
(a) Ul TATEAE SR WHATER I € |

(b) TOEwETAE |

(C) STIaH e, Tau 1 TETF ¢ |

(d) AT % Tewe fagid aeara € |

=il T T et F FE S BT A I

1) (@), (b), (c) R (d) 2  (b), (c) R (d)

3 (b) 3R (c) (4) e (c)

ffefad & | ®H9-9 9ot (Hifetsh) Feied & 2

() T & B G

(b)  TITHTcTeR TATERIT i TR SR SHH FUR

(c)  TTC-TudT gRT 310 Set =i T918TT o 31T UG T |
(d) T HewT % TR 31T T i GRET HET |

T ST 7T P2l ¥ Hel ST 1 T3 DT

B

(1) (a), (b) #R (c) (2) (a), (b) &R (d)

3) (), (c) IR (d) 4) (@), (), (c) &R (d)

e st o Hey § Ffefad 9§ | B ¥ FHoF 98 E 2
(8) TE UF Gorurish e & |

(b) TE U Gt FEE T |

(c) T T A GauTe e &, 7 € gifataes e € |
(d) T% U e =i (e o) ¥ |

=il T T 2t F FE ST BT AT BT
(1) (a) &R (d) (2) (b) 2R (d)
(3) (c) R (d) 4) (b), (c) 3R (d)
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A college level assistant professor has planned his/her lectures with an intent to develop
cognitive dimensions of students centered on skills of analysis and synthesis. Below,
given are two sets of items Set — | consisting of levels of cognitive interchange and

Set — Il comprising basic requirements for promoting them. Match the two sets and
indicate your answer by choosing the correct alternative from the code :
Set—1 Set—11
(Levels of Cognitive (Basic requirements for promoting cognitive
Interchange) interchange)
a.  Memory level i. Giving opportunity for discriminating

examples and non-examples of a point.

b.  Understanding level ii.

Recording the important points made
during the presentations.

c.  Reflective level iii. Asking the students to discuss various
items of information.

iv.  Critically analyzing the points to be made
and discussed.

Codes :

a b C
@ iioivi
(2 i v
(3) ii i iv
4) i i i

Which set of learner characteristics may be considered helpful in designing effective
teaching-learning systems ? Select the correct alternative from the codes given below :

(i)  Prior experience of learners in respect of the subject.

(it)  Interpersonal relationships of learner’s family friends.

(iii)  Ability of the learners in respect of the subject.

(iv) Student’s language background.

(v) Interest of students in following the prescribed dress code.
(vi) Motivational-orientation of the students.

Codes :
@) (), (i), (iii) and (iv) (2) (i), (i), (iv) and (vi)
(3) (i), (i), (iv) and (V) (4) (i), (iv), (v) and (vi)

22



59.

60.

A-00

T Helaaed T & Ted® WHEE o faveiunr 3R Hveiuul Sive W higd, G &
GIMTEE ST I [T - & I(0vd | 30 ATAFT &l T ASHT 991 & | A< 781 & &
e 5w M0 & — Y| TeETES Sdai e & W ¥ Getud € 3T Ge-ll 3% Sgren 34 % formw
Tod TUeTTS O Tated & | IHT T2l bl GHfeTT HINTT 3R $e T Tt foshed 1 a2 Hech 3T
I T

e r o |
(VAT A BT ER) (WS a1 &t agmar 39 & g gere
ATATIHATY)
a. d TR i ot g % 3RO S IR-SIEN B gAS
T T T T |
b. EEYy TR ii. TR 3 R ST MU Hewur gt w
T HE |
c. fome & iii. o % fafte W& W TEl ®H % o
Tornférat & e |
iv. foer=T fogeT 1 STelaHTHs favetsuT S
3R 3T I == HET |
FT
a b c
Q) i v
@) Qi v i
@) i i v
@ i Qi i

TS FRTeTOT- IR Seeen o SAeheuT § fRTete i forwuaret &1 i |1 AT WeTdh THe ST
T & 2 I U TTT e ¥ Tt faeheq 1 =5 Hife

(i) Towa = Gy | teraeharet & Id-3ve

(i) ARrmEsarst % uRar & M=t #1 siqaatds dee
(iii) Toaor & Tl o SIRrmaekdst Sl Frgar

(iv) Tomnfaar ot Sror-geay iy

(v) T7eiRa 38 e s1oAm | fornféa &t s

(vi) Tornterat s RIS STt

E
) (0, (i), (iii) 3 (iv) (2 (), Giii), (iv) 3 (vi)

(3) (i), (iii), (iv) 3T (v) (4) (i), (iv), (v) 3 (vi)
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Answer Key:

Q. No. Ans. No. Q. No. Ans. No.
1 4 31 4
2 3 32 3
3 2 33 2
4 1 34 3
5 4 35 2
6 2 36 3
7 3 37 2
8 3 38 3
9 3 39 4
10 2 40 3
11 2 41 1
12 3 42 1
13 4 43 1
14 3 44 4
15 1 45 3
16 4 46 1
17 1 47 3
18 2 48 1
19 1 49 2
20 1 50 4
21 3 51 2
22 2 52 2
23 1 53 2
24 3 54 4
25 4 55 1
26 4 56 4
27 1 57 1
28 3 58 3
29 4 59 3
30 2 60 2
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Paper — |

Note : e This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
o Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

1. ldentify the important element a teacher has to take cognizance of while addressing
students in a classroom.
(1) Awvoidance of proximity
(2) Voice modulation
(3) Repetitive pause
(4) Fixed posture

2. What are the barriers to effective communication ?
(1) Moralising, being judgemental and comments of consolation.
(2) Dialogue, summary and self-review.
(3) Use of simple words, cool reaction and defensive attitude.
(4) Personal statements, eye contact and simple narration.

3. The choice of communication partners is influenced by factors of
(1) Proximity, utility, loneliness
(2) Utility, secrecy, dissonance
(3) Secrecy, dissonance, deception
(4) Dissimilarity, dissonance, deviance

4.  As ateacher, select the best option to ensure your effective presence in the classroom.
(1) Use of peer command
(2) Making aggressive statements
(3) Adoption of well-established posture
(4) Being authoritarian

5. Every communicator has to experience
(1) Manipulated emotions
(2) Anticipatory excitement
(3) The issue of homophiles
(4) Status dislocation

6. Imagine you are working in an educational institution where people are of equal status.
Which method of communication is best suited and normally employed in such a context ?
(1) Horizontal communication
(2) Vertical communication
(3) Corporate communication
(4) Cross communication

B-00 2
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In the series

3,11, 23, 39, 59, ..........

The next term will be

(1) 63 () 73
(3) 83 (4) 93

Two railway tickets from city A to B and three tickets from city A to C cost ¥ 177. Three
tickets from city A to B and two tickets from city A to C cost ¥ 173. The fare for city B
from city A will be %

1) 25 2 27

(3) 30 (4) 33

A person walks 10 m infront and 10 m to the right. Then every time turning to his left, he
walks 5, 15 and 15 m respectively. How far is he now from his starting point ?

(1) 20m (2) 15m

(3 10m (4 5m

A is sister of B. F is daughter of G. C is mother of B. D is father of C. E is mother of D. A
is related to D as

(1) Grand daughter (2) Daughter
(3) Daughter-in-law (4) Sister

In the series

AB, EDC, FGHI, ....7...., OPQRST, the missing term is
(1) JKLMN (2) JMKNL
(3) NMLKJ (4) NMKLJ

Among the following propositions two are related in such a way that one is the denial of
the other. Which are those propositions ? Select the correct code :
Propositions :

(@ All women are equal to men

(b) Some women are equal to men

(c) Some women are not equal to men

(d) No women are equal to men

Codes :

(1) (a)and (b)

(2) (a)and (d)

(3) (c)and (d)

(4) (a)and(c)

In certain code, SELECTION is coded as QCJCARGML. The code of AMERICANS will
be

(1) YKCPGAYLQ

(2) BNFSIDBMR

(3) QLYAGPCKY

(4) YQKLCYPAG
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SIEl]

3,11, 23,39,59, .........

T STl G B

(1) 63 (2) 73
3) 83 (4) 93

AT B I &l g I fehel 3K A ® C T &l dF 3T fehel Sl Hiaa T 1772 | A9 B IRT At
d fesmel 3t A 9 C T o g feshel &l iAd T 173 TUU § | IeT A 9§ WieY B % foiw fomemn
B :

(1) %25 (2) 27

(3) %30 (4) %33

TS AT 310 TEH 1 31X 10 HieX 3 Fifer 31X 10 Hiex =erdn €1 Ry 9 1ot ot 31i¥ ge-
TR AT 5, 15 3T 15 We =il & | 98 30 THT 310 3R {65 § fehet g0 W & 2

(1) 204 (2) 154

(3) 104 (4) 5.

A BHRTEEF,GH TN E, C,BHAME, D, C H Ut g, E, D & A1 &, AFI D F Faiy
%-.

(1) e < (@ (2) =t @

(3) Sl (TF-aY)) (4) T (F&)

sf@e AB, EDC, FGHI, ....2...., OPQRST ¥ 21 53T Wg & :

(1) JKLMN (2) JMKNL

(3) NMLK]J (4) NMKLJ

fr=fefaa eyt o 31 39 TR Tafud € 76 o Th-g % RIS © | o e -9
£ 2 el P T TIT HINT :

Aty

(a) it AfeeE qouT o SRR et § |
(b) T AfeeTd TEuT o SR Bl & |
(c) T Afeed T&6T o e T&l &l ¢ |
(d) I o wieen ol & sET Tél el § |

ETE

(1) (a) 3R (b) 2) (a) 3R (d)

3 (o) R (d) 4 (23R (c)

Haud %< H, SELECTION &1 % QCICARGML &, AMERICANS T %< & :
(1) YKCPGAYLQ (2) BNFSJDBMR

(3) QLYAGPCKY (4) YQKLCYPAG

5 P.T.O.
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Consider the following statement and select the correct code stating the nature of the
argument involved in it :

To suppose that the earth is the only populated world in the infinite space is as absurd as
to assert that in an entire field of millet only one grain will grow.

(1) Astronomical (2) Anthropological
(3) Deductive (4) Analogical

Select the code which is not correct about Venn diagram :

(1) Venn diagram represents propositions as well as classes.
(2) It can provide clear method of notation.

(3) It can be either valid or invalid.

(4) It can provide the direct method of testing the validity.

Select the code which is not correct in the context of deductive argument with two
premises :

(1) Anargument with one true premise, one false premise and a false conclusion may be
valid.

(2) Anargument with two true premises and a false conclusion may be valid.

(3) An argument with one true premise, one false premise and a true conclusion may be
valid.

(4) Anargument with two false premises and a false conclusion may be valid.

Given below are two premises and four conclusions are drawn from them (taking singly or
together). Select the code that states the conclusions validly drawn.

Premises : (i)  All religious persons are emotional.
(i) Ram is a religious person.
Conclusions: (a) Ram is emotional.
(b)  All emotional persons are religious.
(¢) Ram is not a non-religious person.
(d) Some religious persons are not emotional.

Codes :
(1) (), (b), (c) and (d)
(2) (a)only

(3) (a)and (c)only
(4) (b)and (c) only

If the proposition “All thieves are poor’ is false, which of the following propositions can
be claimed certainly to be true ?

Propositions :

(1) Some thieves are poor.

(2) Some thieves are not poor.

(3) No thief is poor.

(4) No poor person is a thief.
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ffefEd Fom X faem AT 3 2789 U e a% &t 9FHid &1 3oeid R §¢ Tl e =9a
HIfTT

Tg AT AT (oh T 3 STaiet § gedlt & Uk ol gt 3T &, U TG e § ST 9% Tk
TR % ©d | el Teh gFT S |

(1) @ (2) IR

(3) TrmHATH® (4) TEIAHH

SH 2 I AT BT ST o SEUH & G H TEl TE ¢ |
(1) 9 S TR 3T ST i URTeT SR § |
(2) TE Hohad Tl T UFIA ST H Fhall € |

(3) & AY A7 A B HeheAT & |

(4)  TE eI TXETOT S UceT TH T SUCTey Y kT § |

39 < I TFT HISTT, ST I SR-STHRT 1ot T T & TG § T&t T8l €

(1) TS T&l STUR-aTH, Teh TToid SMER-aT 3R T TTeid (SR aTell doh, oY & qhaT & |
(2) T HE SMUR-TEE 3R Uh Tord (5hd dTelT a9k 9y & Tl & |

(3) TS Tl SUR-ATH, Teh TToid MER-aTeT 3R Uk Hel (=hY Aol deh oY &1 qhaT € |
(4) T IO SMER-STERT ATAT T 3R Tk TTeld Fshy 94 &1 TehelT & |

= B eTaRaER KU U § ST S 9N e T T § (S STenT- e a1 U 9 forg T §) |
39 P I TI HIT, ST Jg T AT & 1o ey 99 T H fqu MU E |

AUAT : (i) T e St A1 & € |
(i) W U uihek =i € |

freny (8) TMAGHE |
(b) Tt Tk =AfeRT wfhes it & |
(c) ™ U 3THE AT & € |
(d) F= «fires =l e el i € |

&<
(1) (@), (b), (c) ¥R (d) (2) & (a)
(3) e (a) 3R (c) (4) & (b) 3 (c)

g I8 Afre 6 “gdt IR TR gd & Tod ¢ af Fefaiad § 9 g siiyeem & g9y |
fAfeea =9 T W&l & o1 <1 fohar ST Fehd & 9

e
(1) FSAXRGLAE | (2) IR RIS TRIEAE |
(3) I H AR RIS TR e g | (4) I TS EH AR TET B |
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The following table shows the percentage profit (%) earned by two companies A and B
during the years 2011-15. Answer questions 19-21 based on the data contained in the table :

Profit earned by two companies

Percentage Profit (%0)

Year

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

Income — Expenditure
Expenditure

Where, percent (%) Profit = x100

19. What is the average percentage profit earned by the company B ?
(1) 35%
2) 42%
(3) 38%
(4) 40%

20. In which year, the percentage profit earned by the company B is less than that of company
A?
(1) 2012
(2) 2013
(3) 2014
(4) 2015

21. If the total expenditure of the two companies was ¥ 9 lakh in the year 2012 and the
expenditure of A and B were in the ratio 2 : 1, then what was the income of the company
A in that year ?

(1) 9.2 lakh
(2) %8.1lakh
(3) 7.2 lakh
(4) 6.0 lakh

B-00 8
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frafataa arfaer # a¥ 2011-15 &% SR A AT B AW 3 HAHal gRT ATTd a1 &
TFTSTaaT (%) T9ME TS T | W9 19-21 T I ATfereht | fIT Ue % e o7 AT |

T Hufaat gRT A e
" AT Tt AfT9TAaT (%)

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

TR, B A AT (%) T = ———— x 100

HO B R SAfTd o1 6 3fia wfaeTear s € 2
(1) 35 wicera (2) 42 ufae
(3) 38 wfae (4) 40 wfcea

78 o9 § Ul B §RT ST o9 i WIq9TadT, Shol A §RT TSTd o hi Wiaeradr d & ¢ 2
(1) 2012 (2) 2013

(3) 2014 (4) 2015

g g HUHAT HT Fol 79, a9 2012 H 9 TG TIF A7 3R A 31X B % =g 1 3 2 : 1 o, af
3 99 | HUAT A ST 4 A 0

(1) %9.2cmE 2) %8.17mE

(3) ¥7.2mg 4) Z6.0TE

9 P.T.O.



The following table shows the number of people in different age groups who responded to
a survey about their favourite style of music. Use this information to answer the questions
that follow : (Question 22-24) to the nearest whole percentage :

22,

23.

24,

25.

26.

217.

28.

B-00

Number of people
Age — | (Years) | (Years) | (Years)

Style of 15-20 21-30 31+
Music {

Classical 6 4 17
Pop 7 5 5
Rock 6 12 14
Jazz 1 4 11
Blues 2 3 15
Hip-Hop 9 3 4
Ambient 2 2 2

Approximately what percentage of the total sample indicates that Hip-Hop is their
favourite style of music ?

(1) 6% 2)

(3) 14% 4)

What percentage of respondents aged 31+ indicated a favourite style other than classical
music ?

8%
12%

(1) 64% (2) 60%
3) 75% (4) 50%
Approximately what percentage of the total sample were aged 21-30 ?
1) 31% (2) 23%
3) 25% (4) 14%

If the binary equivalent of the decimal number 48 is 110000, then the binary equivalent of
the decimal number 51 is given by

(1) 110011 (2) 110010

(3) 110001 (4) 110100

The process of copying files to a CD-ROM is known as

(1) Burning (2) Zipping

(3) Digitizing (4) Ripping

An unsolicited e-mail message sent to many recipients at once is a
(1) Worm (2) Virus

(3) Threat (4) Spam

The statement “the study, design, development, implementation, support or management
of computer-based information systems, particularly software applications and computer
Hardware” refers to

(1) Information Technology (IT)

(2) Information and Collaborative Technology (ICT)
(3) Information and Data Technology (IDT)

(4) Artificial Intelligence (Al)

10



Frafafae Aiferer # TR SAerT-3erT og WHE | A i guirar T €, i s uHe & w6t
Jiell % Were § Ry Ty weeror # IR fE@r | 39 gEAn &y A TR T uee (22-24) %S a
% T HIAT | S I Frbeaw qot nirere & SR W E

22,

23.

24,

25.

26.

27.

28.
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SR Bt ST
ag— | (@) (a) (a)

Luin] 15-20 21-30 31+

=1 gett 4

M 6 4 17

T 7 5 5

T 6 12 14

STSST 1 4 11

= 2 3 15

feu-gia 9 3 4

e 2 2 2
o1 ATReT T SRTH FeheT HceTd 98 Tehdl Sl ¢ o fed-8Td Seh! T8g &t T 9ot € ?
1) 6% 2 8%
(3) 14% 4) 12%
31+ 3T % STRGIATSA o Tohei UTeTeTd = Yl Gt & =T qEisT Siedl sl ST o & 2
1) 64% 2) 60%
(3) 75% 4) 50%
et U T AT fohe =T Ufere 21-30 21 % & ?
1) 31% 2) 23%
(3) 25% 4) 14%
T TR T 48 T fF3maR! ¥qed 110000 &, T SRIHes T 51 1 53Rt 9qed &
(1) 110011 (2) 110010
(3) 110001 (4) 110100
TSt AT T HIEA I BT I Hl UfehaT BT TF STHT STIT €
1) T (2) T
(3) fefserim (4) R
(1) = (2) =
3 % (4) =™

g U — “HI NN T FoTelt Tl 3T, 3Afiehed, g, ohareae, TS a1 vee,
fortoa:; HireaaT STy 31K HHeX grEaeR” Tatd &

(1) g Wit (3ME2) 9 |

(2) GEAT 3T UITANT SR Wit (SMEA2) T |

(3) GO 3R UG WRIfTeh! (M) |

(4) S gfE @aE) F |

11 P.T.O.
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An ASCII is a character-encoding scheme that is employed by personal computers in
order to represent various characters, numbers and control keys that the computer user
selects on the keyboard. ASCII is an acronym for

(1) American Standard Code for Information Interchange

(2) American Standard Code for Intelligent Information

(3) American Standard Code for Information Integrity

(4) American Standard Code for Isolated Information

Identify the air pollutant in urban areas which irritates eyes and also respiratory tract of
human beings.

(1) Particulate matter (2) Oxides of nitrogen

(3) Surface ozone (4) Carbon monoxide

Which of the following is the largest source of water pollution in major rivers of India ?
(1) Untreated sewage

(2) Agriculture run-off

(3) Unregulated small scale industries

(4) Religious practices

Sustainable development goals have specific targets to be achieved by

(1) 2022 (2) 2030

(3) 2040 (4) 2050

Indian government’s target of producing power from biomass by the year 2022, is
(1) 50 MW (2) 25MW

(3) 15MW (4) 10MW

Assertion (A) : Conserving our soil resources is critical to human survival.
Reason (R) : Soil is home to many micro-organisms and contains minerals.
Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

World Meteorological Organisation’s (WMO) objective has been to reduce the number of
deaths due to hydrometeorological disasters over the decade 2010-2019 by (with reference
to the decade 1994-2003)

1) 25% (2) 50%

(3) 75% (4) 80%

is a type of memory circuitry that holds the computer’s start-up routine.
(1) RIM (Read Initial Memory)
(2) RAM (Random Access Memory)
(3) ROM (Read Only Memory)
(4) Cache Memory

12
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=TI AT &, TOH L3S 3TE, o fet T Wkl (aeefh) & |
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37. The best way for providing value education is through
(1) discussions on scriptural texts (2) lectures / discourses on values
(3) seminars / symposia on values (4) mentoring / reflective sessions on values

38. The National Judicial Appointments Commission (NJAC) has been declared
unconstitutional by
(1) The Supreme Court of India
(2) The High Court
(3) The High Court and the Supreme Court both
(4) The President of India

39.  Which of the following statements about the Indian political system is/are correct ?
(@) The President is both Head of the State and Head of the Government.
(b) Parliament is Supreme.
(c) The Supreme Court is the guardian of the Constitution.
(d) The Directive Principles of State Policy are justiciable.
Select the correct answer from the codes given below :
(1) (a), (b), (c) and (d) (2)  (b), (c) and (d)
(3) (b)and(c) (4) (c)only

40. Which of the following are the fundamental duties ?
(@) To respect the National Flag.
(b) To protect and improve the natural environment.
(c) For a parent to provide opportunities for education to his/her child.
(d) To protect monuments and places of national importance.
Select the correct answer from the codes given :

Codes :
(1) (@), (b) and (c) (2) (@), (b) and (d)
(3) (a), (c) and (d) (4) (), (b), (c) and (d)

41. Which of the following statements are correct in respect of Niti Aayog ?
(@ Itisa constitutional body.
(b) Itisa statutory body.
(c) Itis neither a constitutional body nor a statutory body.
(d) Itisathink-tank.
Select the correct answer from the codes given below :
(1) (a)and(d) (2)  (b)and (d)
(3) (c)and(d) (4)  (b), (c) and (d)

42. Which of the following core values among the institutions of higher education are
promoted by the NAAC (National Assessment and Accreditation Council) ?
(@ Contributing to national development.
(b) Fostering global competencies among the students.
(c) Inculcating a value system among students and teachers.
(d) Promoting the optimum utilization of the infrastructure.
Select the correct answer from the codes given below :

Codes :
(1) (b), (c) and (d) (2) (a), (b) and (c)
(3) (a), (c) and (d) (4) (), (b), (c) and (d)
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Which set of learner characteristics may be considered helpful in designing effective
teaching-learning systems ? Select the correct alternative from the codes given below :

(i)  Prior experience of learners in respect of the subject.

(it)  Interpersonal relationships of learner’s family friends.

(iii)  Ability of the learners in respect of the subject.

(iv) Student’s language background.

(v) Interest of students in following the prescribed dress code.

(vi) Motivational-orientation of the students.

Codes :
@) (), (i), (iii) and (iv) (2) (i), i), (iv) and (vi)
(3) (i), (iii), (iv) and (v) (4) (iii), (iv), (v) and (vi)

A college level assistant professor has planned his/her lectures with an intent to develop
cognitive dimensions of students centered on skills of analysis and synthesis. Below,

given are two sets of items Set — | consisting of levels of cognitive interchange and
Set — Il comprising basic requirements for promoting them. Match the two sets and
indicate your answer by choosing the correct alternative from the code :
Set-1 Set— 11
(Levels of Cognitive (Basic requirements for promoting cognitive
Interchange) interchange)
a.  Memory level I. Giving opportunity for discriminating

examples and non-examples of a point.

b.  Understanding level ii. Recording the important points made

during the presentations.

c.  Reflective level iii. Asking the students to discuss various
items of information.

iv.  Critically analyzing the points to be made
and discussed.

Codes :

a b C
@ i v
(2) i vl
(3) ii i v
4 i i i
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The use of teaching aids is justified on the grounds of

(1) attracting students’ attention in the class room.

(2) minimising indiscipline problems in the classroom.
(3) optimising learning outcomes of students.

(4) effective engagement of students in learning tasks.

Assertion (A) : The purpose of higher education is to promote critical and creative
thinking abilities among students.

Reason (R) : These abilities ensure job placements.

Choose the correct answer from the following code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

Match the items of the first set with that of the second set in respect of evaluation system.
Choose the correct code :

Set-1
a.  Formative evaluation I.

Set- 11
Evaluating cognitive and co-cognitive
aspects with regularity
Tests and their interpretations based on a
group and certain yardsticks
Grading the final learning outcomes

b. Summative evaluation ii.

C. Continuous and iii.

comprehensive evaluation

d.  Norm and criterion referenced iv. Quizzes and discussions
tests

Codes :
a b c d

@) v i i i

(2 i i i v

(3 i v i i

4 i i ivo i

Select the alternative which consists of positive factors contributing to effectiveness of
teaching :
List of factors :

(@) Teacher’s knowledge of the subject.

(b) Teacher’s socio-economic background.

(c) Communication skill of the teacher.

(d) Teacher’s ability to please the students.

(e) Teacher’s personal contact with students.

()  Teacher’s competence in managing and monitoring the classroom transactions.
Codes :

(1) (b), (c) and (d) (2)  (c), (d)and (f)

(3) (b), (d) and (e) (4) (a),(c)and (f)
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Which of the following is an initial mandatory requirement for pursuing research ?
(1) Developing a research design

(2) Formulating a research question

(3) Deciding about the data analysis procedure

(4) Formulating a research hypothesis

The format of thesis writing is the same as in
(1) preparation of a research paper/article

(2) writing of seminar presentation

(3) aresearch dissertation

(4) presenting a workshop / conference paper

In qualitative research paradigm, which of the following features may be considered critical ?
(1) Data collection with standardised research tools.

(2) Sampling design with probability sample techniques.

(3) Data collection with bottom-up empirical evidences.

(4) Data gathering to take place with top-down systematic evidences.

From the following list of statements identify the set which has negative implications for

‘research ethics’ :

(i)  Aresearcher critically looks at the findings of another research.

(i) Related studies are cited without proper references.

(iii) Research findings are made the basis for policy making.

(iv) Conduct of practitioner is screened in terms of reported research evidences.

(v) A research study is replicated with a view to verify the evidences from other
researches.

(vi) Both policy making and policy implementing processes are regulated in terms of
preliminary studies.

Codes :
@) (), (i) and (iii) (2) (i), (iii) and (iv)
(3) (i), (iv) and (vi) (4) (i), (iii) and (v)

In a research on the effect of child-rearing practices on stress-proneness of children in
completing school projects, the hypothesis formulated is that ‘child rearing practices do
influence stress-proneness’. At the data-analysis stage a null hypothesis is advanced to
find out the tenability of research hypothesis. On the basis of the evidence available, the
null hypothesis is rejected at 0.01 level of significance. What decision may be warranted
in respect of the research hypothesis ?

(1) The research hypothesis will also be rejected.

(2) The research hypothesis will be accepted.

(3) Both the research hypothesis and the null hypothesis will be rejected.

(4) No decision can be taken in respect of the research hypothesis.

A researcher intends to explore the effect of possible factors for the organization of
effective mid-day meal interventions. Which research method will be most appropriate for
this study ?

(1) Historical method (2) Descriptive survey method
(3) Experimental method (4) Ex-post-facto method
20
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Read the following passage carefully and answer question numbers from 55 to 60 :

In terms of labour, for decades the relatively low cost and high quality of Japanese workers
conferred considerable competitive advantage across numerous durable goods and consumer-
electronics industries (eg. Machinery, automobiles, televisions, radios). Then labour-based
advantages shifted to South Korea, then to Malaysia, Mexico and other nations. Today, China
appears to be capitalizing best on the basis of labour. Japanese firms still remain competitive in
markets for such durable goods, electronics and other products, but the labour force is no longer
sufficient for competitive advantage over manufacturers in other industrializing nations. Such
shifting of labour-based advantage is c[earlty not limited to manufacturing industries. Today, a huge
number of IT and service jobs are moving from Europe and North America to India, Singapore, and
like countries with relatively well-educated, low-cost workforces possessing technical skll_ls.
However, as educational levels and technical skills continue to rise in other countries, India,
Slnﬁapore, and like nations enjoyln% labour-based competitive advantage today are likely to find
such advantage cannot be sustained through emergence of new competitors. )
In terms of capital, for centuries the days of gold coins and later even paper money restricted
financial flows. Subsequently regional concentrations were formed where large banks, industries
and markets coalesced. But today capital flows internationally at rapid speed. Global commerce no
longer requires regional interactions among business players. Regional capital concentrations in
places such as New York, London and Tokyo still persist, of course, but the capital concentrated
there is no longer sufficient for competitive advantage over other capitalists distributed worldwide.
Only if an organization is able to combine, integrate and apply its resources (eg. Land, labour,
capital, IT) in an effective manner that is not readily imitable by competitors can such an
organization enjoy comﬂetltlve advantage sustainable overtime. o
In a knowledge-based theory of the firm, this idea is extended to view organizational knowledge as
a resource with atleast the same level of power and importance as the traditional economic inputs.
An organization with superior knowledge can achieve competitive advantage in markets that
aﬂpremate _the application _of such knowled?_e. Semiconductors, —genetic  engineering,
pharmaceuticals, software, military warfare, and like knowledge-intensive competitive arenas
provide both time-proven and current examples. Consider semiconductors (e.g. computer chips),
which are made_pr|n0|pa_llﬁ/_ of sand and common metals. These ubiquitous and powerful electronic
devices are designed within common office buildings, using commercially available tools, and
fabricated within factories in many industrialized nations. Hence, land is not the key competitive
resource in the semlconductorlndustr?/. ] )
Based on the passage answer the following questions :
55.  Why labour-based competitive advantages of India and Singapore cannot be sustained in IT

and service sectors ?

(1) Due to diminishing levels of skill.

(2) Due to capital-intensive technology making inroads.

(3) Because of new competitors.

(4) Because of shifting of labour-based advantage in manufacturing industries.

56. How can an organisation enjoy competitive advantage sustainable overtime ?
(1) Through regional capital flows.
(2) Through regional interactions among business players.
(3) By making large banks, industries and markets coalesced.
(4) By effective use of various instrumentalities.

57. What is required to ensure competitive advantages in specific markets ?
(1)  Access to capital (2) Common office buildings
(3) Superior knowledge (4) Common metals

58. The passage also mentions about the trend of
(1) Global financial flow
(2)  Absence of competition in manufacturing industry
(3) Regionalisation of capitalists
(4) Organizational incompatibility

59. What does the author lay stress on in the passage ?

(1) International commerce (2) Labour-Intensive industries

(3) Capital resource management (4) Knowledge-driven competitive advantage
60. Which country enjoyed competitive advantages in automobile industry for decades ?

(1) South Korea (2) Japan

(3) Mexico (4) Malaysia
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Answer Key:

Q. No. Ans. No. Q. No. Ans. No.
1 2 31 1
2 1 32 2
3 1 33 4
4 3 34 2
5 2 35 2
6 1 36 3
7 3 37 4
8 4 38 1
9 4 39 4
10 1 40 1
11 3 41 3
12 4 42 2
13 1 43 2
14 4 44 3
15 3 45 3
16 2 46 2
17 3 47 1
18 2 48 4
19 3 49 2
20 2 50 3
21 2 51 3
22 4 52 3
23 3 53 2
24 3 54 4
25 1 55 3
26 1 56 4
27 4 57 3
28 1 58 1
29 1 59 4
30 3 60 2
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Note :
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Paper — |
o This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
o Candidate is expected to answer any Fifty (50) questions.
¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

Select the alternative which consists of positive factors contributing to effectiveness of
teaching :

List of factors :

(@) Teacher’s knowledge of the subject.

(b) Teacher’s socio-economic background.

(c) Communication skill of the teacher.

(d) Teacher’s ability to please the students.

(e) Teacher’s personal contact with students.

()  Teacher’s competence in managing and monitoring the classroom transactions.
Codes :

(1) (b), (c) and (d) (2)  (c), (d)and (f)
(3) (b), (d) and (e) (4)  (a), (c) and (f)

The use of teaching aids is justified on the grounds of
(1) attracting students’ attention in the class room.

(2) minimising indiscipline problems in the classroom.
(3) optimising learning outcomes of students.

(4) effective engagement of students in learning tasks.

Assertion (A) : The purpose of higher education is to promote critical and creative
thinking abilities among students.

Reason (R) : These abilities ensure job placements.

Choose the correct answer from the following code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

Match the items of the first set with that of the second set in respect of evaluation system.
Choose the correct code :

Set-1 Set-11
a. Formative evaluation I. Evaluating cognitive and co-cognitive
aspects with regularity
b.  Summative evaluation ii.  Tests and their interpretations based on a
group and certain yardsticks
c.  Continuous and iii.  Grading the final learning outcomes

comprehensive evaluation
d.  Norm and criterion referenced iv. Quizzes and discussions

tests
Codes :

a b c d
@) v i i ii
(2) i i i v
(3) iii v ii i
4) i i iv ii



gga= — |
AT: o MU H W6 (60) TgTHAT YT © | T U9 % & (2) H T |
o 3T P T O T (50) YA H I A € |
o I T (50) ¥ A UeA & S T @t wed wene (50) Ue & S S |

1. TereTor s UMTEERRAT § AR 37 3ol THRIcHS HIReh aTet (e 31 I3 iy
SR i gl :
(a) 3T Tl [aw 1 T
(b)  3TeATUS I AHIT- 3T gt
(C)  3TeATIH T FUTT DI
(d) To=ntaEt st T H Hi STEATIE S FAA
(e) Torenférat & | 3TEATIS T AN TUH
(f) RN FITER & oo X S0 § 3TeaTIeh St &7
FE:
D) (b), () R (d) @ (c), (d) =R (f)
3  (b), (d) #R (e) 4 (), (c) =R ()
2. ferayor Weiel TETEH-SURI T ST o AT T SHR &
(1) =T o foRnfert 1 e STt ST |
(2) RN SFRTERIAAT ! T N HH HEAT |
(3) Tomntaat o ey UROTHE S TaH FHEAT |
(4) ATy St | foRnteE s e & d A |
3. A (A) ;ST O 1 v foeE § STl Teas 3T geHIeTe o Al

o TG AT E |
% (R) T AT ¥ - gHEd B e |
ffefiad e & W&t 3T & F57 i

(1) (A) 3R (R) gH Wl € 3R (R), (A) I G&l @A & |
(2) (A) 3R (R) 31 @&t €, g (R), (A) =T W&l =amen &1 & |
(3) (A) Wl g 3R (R) Toid ¢ |

(4) (A) 7T § 3R (R) Wl ¢ |

4, ﬁwﬁaﬁq&@@z—l%nﬁaﬁ@z—n%ﬂﬁ%wgﬁﬁaaﬁm | Tl e T I

"z -1 L |
a.  TACHS Hodihd i, T % W SR, S-SR
TEeTeT T godish ST |
b. U TodishA ii. T 9T R $9 AMSEl % IMUR W
TRIETUT 3R AR AT
c. Tad R IS Jodih i, sifqy stferme afvoma T SuieRRor
d. @ X ey Fehivd alreror iv. TR SR T
A
a b C d
@ v i i i
@ i i i v
@) @i v Qi
@ i Qi v i

A-00 3 P.T.O.



10.

A-00

A researcher intends to explore the effect of possible factors for the organization of
effective mid-day meal interventions. Which research method will be most appropriate for
this study ?

(1) Historical method (2) Descriptive survey method

(3) Experimental method (4) Ex-post-facto method

Which of the following is an initial mandatory requirement for pursuing research ?
(1) Developing a research design

(2) Formulating a research question

(3) Deciding about the data analysis procedure

(4) Formulating a research hypothesis

The format of thesis writing is the same as in
(1) preparation of a research paper/article

(2) writing of seminar presentation

(3) aresearch dissertation

(4) presenting a workshop / conference paper

In qualitative research paradigm, which of the following features may be considered critical ?
(1) Data collection with standardised research tools.

(2) Sampling design with probability sample techniques.

(3) Data collection with bottom-up empirical evidences.

(4) Data gathering to take place with top-down systematic evidences.

From the following list of statements identify the set which has negative implications for

‘research ethics’ :

(1)  Arresearcher critically looks at the findings of another research.

(i)  Related studies are cited without proper references.

(iii) Research findings are made the basis for policy making.

(iv) Conduct of practitioner is screened in terms of reported research evidences.

(v) A research study is replicated with a view to verify the evidences from other
researches.

(vi) Both policy making and policy implementing processes are regulated in terms of
preliminary studies.

Codes :
@) (i), (i) and (iii) (2) (i), (iii) and (iv)
(3) (i), (iv) and (vi) (4) (i), (iii) and (v)

In a research on the effect of child-rearing practices on stress-proneness of children in
completing school projects, the hypothesis formulated is that ‘child rearing practices do
influence stress-proneness’. At the data-analysis stage a null hypothesis is advanced to
find out the tenability of research hypothesis. On the basis of the evidence available, the
null hypothesis is rejected at 0.01 level of significance. What decision may be warranted
in respect of the research hypothesis ?

(1) The research hypothesis will also be rejected.

(2) The research hypothesis will be accepted.

(3) Both the research hypothesis and the null hypothesis will be rejected.

(4) No decision can be taken in respect of the research hypothesis.
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5. I i Ul uerel fHe-g Hiel 8T & A o T Guifad shehl & U9IE i aar ol
T & A STHEE H DA G UFIT 39 3T % {ofT warad gr ?
(1) Tfderas ugia (2) ST FEEI0T YT
(3) VAN Uid (4) HERR Ygid

6. Y HH & forw F=faifad § & i dF SRS SAfamddr S 3107 & 2
(1) oFIHY™ AWHeT fohiad T |
(2) STTHYE-IH AR HET |
(3) v faweruor ufshar & Heay | U & |
(4)  EYF-URSTAT T T |

7. vg.yEY forEe ST T SR B § SN Eranad J 8§
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Read the following passage carefully and answer question numbers from 11 to 16 :

In terms of labour, for decades the relatively low cost and high quality of Japanese workers
conferred considerable competitive advantage across numerous durable goods and consumer-
electronics industries (eg. Machinery, automobiles, televisions, radios). Then labour-based
advantages shifted to South Korea, then to Malaysia, Mexico and other nations. Today, China
appears to be capitalizing best on the basis of labour. Japanese firms still remain competitive in
markets for such durable goods, electronics and other products, but the labour force is no longer
sufficient for competitive advantage over manufacturers in other industrializing nations. Such
shifting of labour-based advantage is c[earlty not limited to manufacturing industries. Today, a huge
number of IT and service jobs are moving from Europe and North America to India, Singapore, and
like countries with relatively well-educated, low-cost workforces possessing technical skll_ls.
However, as educational levels and technical skills continue to rise in other countries, India,
Slnﬁapore, and like nations enjoyln% labour-based competitive advantage today are likely to find
such advantage cannot be sustained through emergence of new competitors. )

In terms of capital, for centuries the days of gold coins and later even paper money restricted
financial flows. Subsequently regional concentrations were formed where large banks, industries
and markets coalesced. But today capital flows internationally at rapid speed. Global commerce no
longer requires regional interactions among business players. Regional capital concentrations in
places such as New York, London and Tokyo still persist, of course, but the capital concentrated
there is no longer sufficient for competitive advantage over other capitalists distributed worldwide.
Only if an organization is able to combine, integrate and apply its resources (eg. Land, labour,
capital, IT) in an effective manner that is not readily imitable by competitors can such an
organization enjoy comﬂetltlve advantage sustainable overtime. o

In a knowledge-based theory of the firm, this idea is extended to view organizational knowledge as
a resource with atleast the same level of power and importance as the traditional economic inputs.
An organization with superior knowledge can achieve competitive advantage in markets that
aﬂpremate _the application _of such knowled?_e. Semiconductors, —genetic  engineering,
pharmaceuticals, software, military warfare, and like knowledge-intensive competitive arenas
provide both time-proven and current examples. Consider semiconductors (e.g. computer chips),
which are made_pr|n0|pa_llﬁ/_ of sand and common metals. These ubiquitous and powerful electronic
devices are designed within common office buildings, using commercially available tools, and
fabricated within factories in many industrialized nations. Hence, land is not the key competitive
resource in the semlconductorlndustr?/. ] )

Based on the passage answer the following questions :

11.  Which country enjoyed competitive advantages in automobile industry for decades ?
(1) South Korea (2) Japan
(3) Mexico (4) Malaysia

12.  Why labour-based competitive advantages of India and Singapore cannot be sustained in IT
and service sectors ?
(1) Due to diminishing levels of skill.
(2) Due to capital-intensive technology making inroads.
(3) Because of new competitors.
(4) Because of shifting of labour-based advantage in manufacturing industries.

13.  How can an organisation enjoy competitive advantage sustainable overtime ?
(1) Through regional capital flows.
(2) Through regional interactions among business players.
(3) By making large banks, industries and markets coalesced.
(4) By effective use of various instrumentalities.

14.  What is required to ensure competitive advantages in specific markets ?
(1)  Access to capital (2) Common office buildings
(3) Superior knowledge (4) Common metals

15. The passage also mentions about the trend of
(1) Global financial flow
(2)  Absence of competition in manufacturing industry
(3) Regionalisation of capitalists
(4) Organizational incompatibility

16.  What does the author lay stress on in the passage ? o )
(1) International commerce (2)  Labour-Intensive industries
(3) Capital resource management (4) Knowledge-driven competitive advantage
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17. Imagine you are working in an educational institution where people are of equal status.
Which method of communication is best suited and normally employed in such a context ?

(1) Horizontal communication
(2) Vertical communication
(3) Corporate communication
(4) Cross communication

18. Identify the important element a teacher has to take cognizance of while addressing
students in a classroom.

(1) Avoidance of proximity
(2) Voice modulation

(3) Repetitive pause

(4) Fixed posture

19.  What are the barriers to effective communication ?
(1) Moralising, being judgemental and comments of consolation.
(2) Dialogue, summary and self-review.
(3) Use of simple words, cool reaction and defensive attitude.
(4) Personal statements, eye contact and simple narration.

20. The choice of communication partners is influenced by factors of
(1) Proximity, utility, loneliness
(2) Utility, secrecy, dissonance
(3) Secrecy, dissonance, deception
(4) Dissimilarity, dissonance, deviance

21. As ateacher, select the best option to ensure your effective presence in the classroom.
(1) Use of peer command
(2) Making aggressive statements
(3) Adoption of well-established posture
(4) Being authoritarian

22. Every communicator has to experience
(1) Manipulated emotions
(2) Anticipatory excitement
(3) The issue of homophiles
(4) Status dislocation

A-00 8
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18.

19.

20.

21.
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FHoqAT HITT fof 21T Uk Tt foret e | €, ST A gue uierfd & § 1 v fefa § deor w5
HH-Ir U T 31 SUgERT & X W 39 UG H HH H AlE Sl ¢ ?

(1) et oo (2) s H

(3) I T (4) i g

Tl H foenteat st Faiud s 9 ST G e H W@ A ATl Feeul aw S e
T |

(1) wrter 9 g (2) aTE WREM IREdA (AT HIge)
(3) TRl fermH (4) fer s
TS EUTOT § SRR o ¢ ?

(1) FAfq-weram, HoruRe giFT SR Wi wer femfort
(2) HaAR, AR AR STeH-FHeT

(3) T IISET I VAN, M UidTsha Y T&ledeh g
(4) AafaT FoF, TR AT SR 9t Jui

HYSoT YiqeiiT 1 =g 69 SR g1 weiferd &l € ?
(1) wT=Tes, SUATAT, SThera (2) YR, e, STHarEar
(3) T, SIS, B (4) Touwa, srETsdT, faae

T 3TEATH & &9 H a1 § MUkt wurelt sutedfd gHfved s & fae gaiay fowea o1 =2
FHIT |

(1) HediT QAR FH yFT

(2) SPHF HUF BT

(3) g T 1 SFAieRTuT

(4)  TTSRR-ETET BT |

Teaish T hi ohT W HT ST &Il § 2
(1) e sma

(2) TS ST

(3) EHITweA 1 e

(4) wreta o

9 P.T.O.
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In certain code, SELECTION is coded as QCJCARGML. The code of AMERICANS will
be

(1) YKCPGAYLQ

(2) BNFSJDBMR

(3) QLYAGPCKY

(4) YQKLCYPAG

In the series

3,11, 23, 39, 59, ..........

The next term will be

(1) 63 2 73
(3) 83 (4) 93

Two railway tickets from city A to B and three tickets from city A to C cost ¥ 177. Three
tickets from city A to B and two tickets from city A to C cost ¥ 173. The fare for city B
from city A will be

(1) 25 (2) 27

(3) 30 4) 33

A person walks 10 m infront and 10 m to the right. Then every time turning to his left, he
walks 5, 15 and 15 m respectively. How far is he now from his starting point ?

(1) 20m (2) 15m

3 10m (4 5m

A is sister of B. F is daughter of G. C is mother of B. D is father of C. E is mother of D. A
is related to D as

(1) Grand daughter (2) Daughter
(3) Daughter-in-law (4) Sister

In the series

AB, EDC, FGHI, ....2...., OPQRST, the missing term is
(1) JKLMN (2) JMKNL
(3) NMLKJ (4) NMKLJ

Among the following propositions two are related in such a way that one is the denial of
the other. Which are those propositions ? Select the correct code :
Propositions :

(@) All women are equal to men

(b) Some women are equal to men

(c) Some women are not equal to men

(d) Nowomen are equal to men

Codes :

(1) (a)and (b)

(2) (a)and (d)

(3) (c)and(d)

(4) (a)and(c)

10
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25.

26.

27.

28.
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i %2 §, SELECTION %1 %2 QCICARGML &, AMERICANS %7 %2 &1

(1) YKCPGAYLQ (2) BNFSIDBMR
(3) QLYAGPCKY (4) YQKLCYPAG
SIEl]

3,11, 23, 39,59, ...

T 3T | g

(1) 63 2) 73

(3) 83 4) 93

AT B I8 &l g1 IeT fehel 3T A W C 98T i i {7 feehel i hiad T 177 ¢ | A9 B =T !
T fewmel 3T A 9 C W8T &l 51 fehel ol g T 173 TUU & | 3T A 9§ WeY B & fow femmn
B

(1) %25 (2) T27

(3) %30 (4) %33

TS AT 3T TE 1 3R 10 HieX 3R et 3T 10 HieX Fotdn & | R 9 370 st 21 ge-
e HUTT; 5, 15 3R 15 HieX TIotal & | 98 39 99T 310 TR g § fohet 380 W & 2

(1) 204 (2) 154

(3) 104 (4) 54

ABH TS F,GH T, C,BH Tmar ¢, D, C & Tar &, E, D &l A1 &, A % D § oy
%—.

(1) s ehex () (2) X @

(3) SieTEA-l (T-aY) (4) TORT (F6)

et AB, EDC, FGHI, ....2...., OPQRST H &7 g7 U% & :

(1) JKLMN (2) JMKNL

(3) NMLKJ (4) NMKLJ

frefafea sy § 3t 39 YR Tafed € i o T o THERES © | 3 e HA-g
£ 7 TE P T T HINT

rfireper

(a) T O oot % SRR Bl & |
(b) F® Hfeemd TEu & aER Bt € |
(c) T Afeed J6T o SREX T&l &l ¢ |
(d) =g ot AfeeT G0 % SRR T&l el & |

&<
(1) (a) 3R (b) 2) (a) 3R (d)
3 (c) &R (d) 4 (a) @R (c)

11 P.T.O.
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31.

32.

33.

34.
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If the proposition *All thieves are poor’ is false, which of the following propositions can
be claimed certainly to be true ?

Propositions :

(1) Some thieves are poor.

(2) Some thieves are not poor.

(3) No thief is poor.

(4) No poor person is a thief.

Consider the following statement and select the correct code stating the nature of the
argument involved in it :

To suppose that the earth is the only populated world in the infinite space is as absurd as
to assert that in an entire field of millet only one grain will grow.

(1) Astronomical (2) Anthropological
(3) Deductive (4) Analogical

Select the code which is not correct about Venn diagram :

(1) Venn diagram represents propositions as well as classes.
(2) It can provide clear method of notation.

(3) Itcan be either valid or invalid.

(4) It can provide the direct method of testing the validity.

Select the code which is not correct in the context of deductive argument with two
premises :

(1) Anargument with one true premise, one false premise and a false conclusion may be
valid.

(2) Anargument with two true premises and a false conclusion may be valid.

(3) Anargument with one true premise, one false premise and a true conclusion may be
valid.

(4) Anargument with two false premises and a false conclusion may be valid.

Given below are two premises and four conclusions are drawn from them (taking singly or
together). Select the code that states the conclusions validly drawn.

Premises : (i)  All religious persons are emotional.
(i) Ram is a religious person.
Conclusions: (a) Ram is emotional.
(b)  All emotional persons are religious.
(c) Ram is not a non-religious person.
(d) Some religious persons are not emotional.

Codes :
(1) (@), (b), (c) and (d)
(2) (a) only

(3) (a)and (c)only
(4) (b)and (c) only

12
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Tie TE AMHIT o “THf IR TG Bid &7 Told § o Eerad § 9 fee sfvne % gy |
ffeea &0 9 @&l &1 1 <re fopan S gehdr € 2

arfireper
(1) FSIRRTEAE | (2) FT AR RIS TRl 8§ |
(3) T W IR WIS TR BT | (4) I TS EH AR TET BT |

frfaiad %o W fTar ST 37 360 ST T 0 1 T Sooid Fid g¢ el He H 7a
FHIfT ;

Tg AT AT {oh T 3 Siaiet § gedlt & U ol gt 3T &, U TG e ¥ S 9% foh
AR & ©d | Hael Th AT ST |

(1) wedE (2) wFERTEE

(3) FrTHATES (4) WEYIHR

SH e I AT BT ST o SEUH & G H TEl TE ¢ |
(1) oF W vkl iR Afvrat it e war g |
(2) T& GohdH I T UFIT ST HT Tohel ¢ |

(3) & AY A7 A B HeheAT & |

(4) TE ST RISTOT i TeaeT T5Td SUTsd Y bl & |

39 2 I II HISTT, ST 3T SRS aTet AT qh & UG § Tt T8l & -

(1) TS T&l STYUR-aTH, Teh TToid SMER-aTe 3R T TTeid (kY aTell deh, 9y & b1 € |
(2) T HE SMUR-STN 3R Uh Tord (5hy dTelT a9k 9y &1 el § |

(3) UH el MR-, Ueh ToTd SMEN-ATHR 3R Tk el Feht a1eTl deh I & Fehell € |
(4) T IO SMER-STERT ATAT T 3R Tk TTeld Fshy 94 &1 TehelT & |

= B eTaRaER KU U § ST S 9N e f 0 § (S STenT- e A1 us 9 forg T §) |
39 P I TIT HIT, ST Jg 7T AT & 1o (e 99 T H fqu MU E |

AT : (i) T e St A1 &l € |
(i) W U efhek =t € |

freny (8) TMAGHE |
(b) Tt g AT i &l & |
(c) ™ U 3HE AT & € |
(d) F= i =l e el 8l € |

&<
(1) (@ (). (©) #% (d) (2) % (a)
(3) T (a) 3 () (4) %= (b) ¥ (c)

13 P.T.O.



The following table shows the percentage profit (%) earned by two companies A and B
during the years 2011-15. Answer questions 35-37 based on the data contained in the table :

Where, percent (%) Profit =

35.

36.

37.

A-00

Profit earned by two companies

Percentage Profit (%0)

Year

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

Income — Expenditure

%100

Expenditure

If the total expenditure of the two companies was ¥ 9 lakh in the year 2012 and the
expenditure of A and B were in the ratio 2 : 1, then what was the income of the company

A in that year ?
(1) T9.2lakh
(2) T8.1llakh
(3) T7.2lakh
(4) 6.0lakh

What is the average percentage profit earned by the company B ?

(1) 35%
2) 42%
(3) 38%
4)  40%

In which year, the percentage profit earned by the company B is less than that of company

A?
(1) 2012
(2) 2013
(3) 2014
(4) 2015

14



frafataa arfaer # a¥ 2011-15 &% SR A AT B AW 3 HAHal gRT ATTd a1 &
TFTSTaaT (%) TIME TS T | W9 35-37 T I ATfeTehT | fIT Ue= & e o7 AT |

T Hufaat gRT A e
" AT Tt AfT9TAaT (%)

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

TR, B A AT (%) T = ———— x 100

35. I 31 HufET 1 et T 2012 H 9 MG T 7 3T A 3R B % FF I SFAC 2 ¢ 1 AT, dr
3T 99 H HUAT A i ST 4 A 0

(1) %92 wmg 2) 8.1

(3) 727ma 4) 6.0

36. U B §RT AT AT Y 3 Ufwraar 7 € 2
(1) 35 wfaee (2) 42 viaeE
(3) 38 Wicrwr (4) 40 wferer

37. @ o9 § HU B §RT 310 oI bl STAeiadr, Shael A §RT 3T1STd oI ! HTaerddl 9 A & 2
(1) 2012 (2) 2013

(3) 2014 (4) 2015

A-00 15 P.T.O.



The following table shows the number of people in different age groups who responded to
a survey about their favourite style of music. Use this information to answer the questions
that follow : (Question 38-40) to the nearest whole percentage :

38.

39.

40.

41.

42.

43.

44,

A-00

Number of people
Age — | (Years) | (Years) | (Years)
Style of 15-20 21-30 31+
Music {
Classical 6 4 17
Pop 7 5 5
Rock 6 12 14
Jazz 1 4 11
Blues 2 3 15
Hip-Hop 9 3 4
Ambient 2 2 2
Approximately what percentage of the total sample were aged 21-30 ?
(1) 31% (2) 23%
(3) 25% (4) 14%

Approximately what percentage of the total sample indicates that Hip-Hop is their
favourite style of music ?

(1) 6% 2)

(3) 14% 4)

What percentage of respondents aged 31+ indicated a favourite style other than classical
music ?

(1) 64% (2)

3) 75% 4)

The statement “the study, design, development, implementation, support or management
of computer-based information systems, particularly software applications and computer
Hardware” refers to

8%
12%

60%
50%

(1) Information Technology (IT)

(2) Information and Collaborative Technology (ICT)
(3) Information and Data Technology (IDT)

(4) Artificial Intelligence (Al)

If the binary equivalent of the decimal number 48 is 110000, then the binary equivalent of
the decimal number 51 is given by

(1) 110011 (2) 110010
(3) 110001 (4) 110100
The process of copying files to a CD-ROM is known as
(1) Burning (2) Zipping
(3) Digitizing (4) Ripping
An unsolicited e-mail message sent to many recipients at once is a
(1) Worm (2) Virus
(3) Threat (4) Spam
16



Frafafae Aiferer # TR SAerT-3erT og WHE | A i guirar T €, i s uHe & w6t
Jiell % Were § Ry Ty weeror # IR fE@r | 39 gEAn &y A & T uee (38-40) # SWR A
% T HIAT | S I Frbeaw qot nirere & SR W E

38.

39.

40.

41.

42.

43.

44,

A-00

AT W |
g | (@) () ()

L uic 15-20 21-30 31+

1 Hett |

I 6 4 17

g 7 5 5

EED 6 12 14

Sl 1 4 11

=TT 2 3 15

feu-gta 9 3 4

Uit 2 2 2
o1 UFIReT ST ST fefeT wifereTet 21-30 3T & & ?
(1) 31% (2) 23%
(3) 25% (4) 14%
T ATAGST T TR FeheT Ut 8 Tl S ¢ o f§U-8T0 S9eh! T8 o Tl 91t & ?
(1) 6% (2) 8%
(3) 14% (4) 12%
31+ 3T & STRGIATSH o Tohe UfeTeTd = I Sl & feT TigiaT Siedt bt SR foham & 2
(1) 64% (2) 60%
(3) 75% (4) 50%

g U — “HI NN T FoTelt Tl 3T, 3Afiehed, T, ohareae, TS a1 vee,
(1) g Wit (3ME2) 9 |

(2) FEAT SR UTTHWT SN Wbl (SMEHE) T |

(3) e 3R UG WRIfTeh! (SMEEA) |

(4) FEW s @atE) F |

T T T 48 T fF3maR! ¥qed 110000 &, T STRIHeh T 51 %1 53Rt 9qed &
(1) 110011 (2) 110010

(3) 110001 (4) 110100

TSt AT T HIEA I BT I Bl UTehaT BT TF STHT STIT €

(1) s (2) Tafew

(3) fefserim (4) R

HE UTAhATS T XA ST AT AT $-Het bl el STl &

(1) = (2) =

3) %= (4) wm

17 P.T.O.



45.

46.

47.

48.

49.

50.

51.

52.

A-00

IS a type of memory circuitry that holds the computer’s start-up routine.
(1) RIM (Read Initial Memory)
(2) RAM (Random Access Memory)
(3) ROM (Read Only Memory)
(4) Cache Memory

An ASCII is a character-encoding scheme that is employed by personal computers in
order to represent various characters, numbers and control keys that the computer user
selects on the keyboard. ASCII is an acronym for

(1) American Standard Code for Information Interchange

(2) American Standard Code for Intelligent Information

(3) American Standard Code for Information Integrity

(4) American Standard Code for Isolated Information

Identify the air pollutant in urban areas which irritates eyes and also respiratory tract of
human beings.

(1) Particulate matter (2) Oxides of nitrogen

(3) Surface ozone (4) Carbon monoxide

Which of the following is the largest source of water pollution in major rivers of India ?
(1) Untreated sewage

(2) Agriculture run-off

(3) Unregulated small scale industries

(4) Religious practices

Sustainable development goals have specific targets to be achieved by

(1) 2022 (2) 2030
(3) 2040 (4) 2050

Indian government’s target of producing power from biomass by the year 2022, is
(1) 50MW (2) 25 MW

3 1MW (4) 10 MW

Assertion (A) : Conserving our soil resources is critical to human survival.
Reason (R) : Soil is home to many micro-organisms and contains minerals.
Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

World Meteorological Organisation’s (WMO) objective has been to reduce the number of
deaths due to hydrometeorological disasters over the decade 2010-2019 by (with reference
to the decade 1994-2003)

1) 25% 2) 50%
(3) 75% (4) 80%
18
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46.

47.

48.

49.

50.

51.

52.
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AR Fichet T Ueh TR €, ST P o TWIE-3TT T i TRUT Hl & |
(1) SARIMETA, (s TV THRY)

(2) IRTUH. (ST TR U

(3) SAR.3NTH. (IS el HHRY)

(4) 3 AARY

T.UH 37T, 31TE. Ueh hiae UA-HITST WhiF &, ST aiokish e R AT i STt & e o
fafir=T e, Teemett X T STt i e far ST T, TH FHIeT UFie Hi-ae T
T AT &, TOH L3 3TE, o fo wep wehifm (aieth) & |

(1) o % SAaHTg & foTT TRi! AHS HiS

(2) FETAYYT oA & T ST I S

(3) I H AR % feTT TR I hie

(4) 9% G % AU SR U e

IR S % U g WSUP I THRd i, fEE o @i st ST g Folt § Sor el
T

(1) fafere gerel (ufespere ) (2) TS I SARATES

(3) T A (4) AT AHEFIEES

YR ot TSIl A § et FGuUT 1 AT | § Ted gl S o1 € ?
(1) IrHayd Aerstet

(2) HT G TA-ETE

(3) afmf o se

(4) e Afq-Rems

HO TR 61 o1 frfetad § 9 6 a9 d U i 1 O o8 & ?
1) 2022 2) 2030

(3) 2040 (4) 2050

Y 2022 T TR I T SeIe & WHR Fl oo &

(1) 50®=am (2) 25"

(3) 15®am (4) 10¥ar

At (A) :  THR YT HETEAT T GRI0T TG e o el Hgeqol € |
% (R) ;ST e ge Sl 1 a1 € SR 39E G © |

TE P H TI HIT ;

(1) (A) 3R (R) I & € 3R (R), (A) Tl T&t AT |

(2) (A) 3R (R) 51 W@l €, e (R), (A) ot Tel =1 el ¢ |
(3) (A) T T R (R) T & |

(4) (A)Ted § 3R (R) Wl ¢ |

Toreer By e (S9,UH. 31.) T 33I9F 2010-2019 T 3 H STA-HIGH (BTG HISIS RIS o)
3MT3TT & HRUT G i F&AT (1994-2003 % I i JoiT H) feheT o 3T § 2

(1) 25% 2) 50%
(3) 75% (4) 80%
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53. Which of the following core values among the institutions of higher education are
promoted by the NAAC (National Assessment and Accreditation Council) ?
(@) Contributing to national development.
(b) Fostering global competencies among the students.
(¢) Inculcating a value system among students and teachers.
(d)  Promoting the optimum utilization of the infrastructure.
Select the correct answer from the codes given below :

Codes :
(1)  (b), (c) and (d) (2) (a), (b) and (c)
(3) (a),(c)and (d) (4) (a), (b), (c) and (d)
54. The best way for providing value education is through
(1) discussions on scriptural texts (2) lectures / discourses on values

(3) seminars / symposia on values (4) mentoring / reflective sessions on values

55. The National Judicial Appointments Commission (NJAC) has been declared
unconstitutional by
(1) The Supreme Court of India
(2) The High Court
(3) The High Court and the Supreme Court both
(4) The President of India

56. Which of the following statements about the Indian political system is/are correct ?
(@) The President is both Head of the State and Head of the Government.
(b) Parliament is Supreme.
(c) The Supreme Court is the guardian of the Constitution.
(d) The Directive Principles of State Policy are justiciable.
Select the correct answer from the codes given below :
(1) (a), (b), (c) and (d) (2)  (b), (c) and (d)
(3) (b)and(c) (4) (c)only

57. Which of the following are the fundamental duties ?
(@) To respect the National Flag.
(b) To protect and improve the natural environment.
(c) For a parent to provide opportunities for education to his/her child.
(d) To protect monuments and places of national importance.
Select the correct answer from the codes given :

Codes :
(1) (@), (b) and (c) (2) (@), (b) and (d)
(3) (a), (c) and (d) (4) (), (b), (c) and (d)

58. Which of the following statements are correct in respect of Niti Aayog ?
(@ Itisa constitutional body.
(b) Itisa statutory body.
(c) Itis neither a constitutional body nor a statutory body.
(d) Itisathink-tank.
Select the correct answer from the codes given below :
(1) (a)and(d) (2)  (b)and (d)
(3) (c)and(d) (4)  (b), (c) and (d)

A-00 20



53.

54,

55.

56.

57.

58.
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o foreT B TS § AT HoAh U UeAEH GRS (Ah) FRT HEfeiad § § fhT s
o i agran fan mn ¢ ?

(a) UL g | 31asH

(b) Toenfémi & Afvere waioTarett 1 T

(c) Toenfémr X sreamgent o Yog-saeT foshiad et

(d) smenfier Gfaenen & an SUAN i T@E A7

T 3T et & el SR A1 94 HINIT

A

1) (b), (c) 3R (d) 2 (a), (b) 3R (c)

3) (@), (0) 3R (d) 4 (@), (b), () = (d)

oo TOTeT UEH X T FAH RIS &

(1) TS e W g (2) T W A/ AREARIEE e
(3) TeAl W AT (4) VoA W AT T/ =i T

T =Tk g ST (TAST.UHT) i FterEd | e sreaun-es =i foan & 2
(1) 9RA & I=adq =A=Ee 3

(2) 3= =R A

(3) ST A 3 STUAH e ST A

(4) 9RA & TgAid A

TR TR e & Fere H g § @ i-am8 Fu- T e/ ?
(a) Ul TATEAE SR WHATER I € |

(b) TOEwETAE |

(C) STIaH e, Tau 1 TETF ¢ |

(d) AT % Tewe fagid aeara € |

=il T T et F FE S BT A I

1) (@), (b), (c) R (d) 2  (b), (c) R (d)

3 (b) 3R (c) (4) e (c)

ffefad & | ®H9-9 9ot (Hifetsh) Feied & 2

() T & B G

(b)  TITHTcTeR TATERIT i TR SR SHH FUR

(c)  TTC-TudT gRT 310 Set =i T918TT o 31T UG T |
(d) T HewT % TR 31T T i GRET HET |

T ST 7T P2l ¥ Hel ST 1 T3 DT

B

(1) (a), (b) #R (c) (2) (a), (b) &R (d)

3) (), (c) IR (d) 4) (@), (), (c) &R (d)

e st o Hey § Ffefad 9§ | B ¥ FHoF 98 E 2
(8) TE UF Gorurish e & |

(b) TE U Gt FEE T |

(c) T T A GauTe e &, 7 € gifataes e € |
(d) T% U e =i (e o) ¥ |

=il T T 2t F FE ST BT AT BT
(1) (a) &R (d) (2) (b) 2R (d)
(3) (c) R (d) 4) (b), (c) 3R (d)
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A college level assistant professor has planned his/her lectures with an intent to develop
cognitive dimensions of students centered on skills of analysis and synthesis. Below,
given are two sets of items Set — | consisting of levels of cognitive interchange and

Set — Il comprising basic requirements for promoting them. Match the two sets and
indicate your answer by choosing the correct alternative from the code :
Set—1 Set—11
(Levels of Cognitive (Basic requirements for promoting cognitive
Interchange) interchange)
a.  Memory level i. Giving opportunity for discriminating

examples and non-examples of a point.

b.  Understanding level ii.

Recording the important points made
during the presentations.

c.  Reflective level iii. Asking the students to discuss various
items of information.

iv.  Critically analyzing the points to be made
and discussed.

Codes :

a b C
@ iioivi
(2 i v
(3) ii i iv
4) i i i

Which set of learner characteristics may be considered helpful in designing effective
teaching-learning systems ? Select the correct alternative from the codes given below :

(i)  Prior experience of learners in respect of the subject.

(it)  Interpersonal relationships of learner’s family friends.

(iii)  Ability of the learners in respect of the subject.

(iv) Student’s language background.

(v) Interest of students in following the prescribed dress code.
(vi) Motivational-orientation of the students.

Codes :
@) (), (i), (iii) and (iv) (2) (i), (i), (iv) and (vi)
(3) (i), (i), (iv) and (V) (4) (i), (iv), (v) and (vi)
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Answer Key:-

Q. No. Ans. No. Q. No. Ans. No.
1 2 31 3
2 2 32 3
3 3 33 3
4 3 34 2
5 3 35 4
6 4 36 2
7 1 37 4
8 4 38 3
9 1 39 1
10 2 40 4
11 3 41 2
12 1 42 3
13 2 43 1
14 4 44 1
15 2 45 3
16 2 46 2
17 3 47 1
18 1 48 2
19 1 49 4
20 4 50 4
21 1 51 1
22 3 52 3
23 2 53 4
24 4 54 1
25 3 55 3
26 2 56 3
27 2 57 2
28 1 58 3
29 4 59 2
30 3 60 4
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Paper — |
Note : e This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.
o Candidate is expected to answer any Fifty (50) questions.

¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be
evaluated.

1. Which of the following is the largest source of water pollution in major rivers of India ?
(1) Untreated sewage
(2) Agriculture run-off
(3) Unregulated small scale industries
(4) Religious practices

2. Sustainable development goals have specific targets to be achieved by

(1) 2022 (2) 2030
(3) 2040 (4) 2050

3. Indian government’s target of producing power from biomass by the year 2022, is
(1) 50 MW (2) 25MW
(3) 15MW 4) 10MW

4.  Assertion (A) : Conserving our soil resources is critical to human survival.
Reason (R) : Soil is home to many micro-organisms and contains minerals.

Choose the correct code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3 (A)istrue and (R) is false.

(4) (A)isfalse and (R) is true.

5. World Meteorological Organisation’s (WMO) objective has been to reduce the number of
deaths due to hydrometeorological disasters over the decade 2010-2019 by (with reference
to the decade 1994-2003)

1) 25% (2) 50%
3) 75% (4) 80%
6. is a type of memory circuitry that holds the computer’s start-up routine.

(1) RIM (Read Initial Memory)

(2) RAM (Random Access Memory)
(3) ROM (Read Only Memory)

(4) Cache Memory

7. An ASCII is a character-encoding scheme that is employed by personal computers in
order to represent various characters, numbers and control keys that the computer user
selects on the keyboard. ASCII is an acronym for
(1) American Standard Code for Information Interchange
(2) American Standard Code for Intelligent Information
(3) American Standard Code for Information Integrity
(4) American Standard Code for Isolated Information

8.  Identify the air pollutant in urban areas which irritates eyes and also respiratory tract of
human beings.
(1) Particulate matter (2) Oxides of nitrogen
(3) Surface ozone (4) Carbon monoxide
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9. Which of the following statements about the Indian political system is/are correct ?
(@ The President is both Head of the State and Head of the Government.
(b) Parliament is Supreme.
(c) The Supreme Court is the guardian of the Constitution.
(d) The Directive Principles of State Policy are justiciable.
Select the correct answer from the codes given below :
(1)  (a), (b), (c) and (d) (2)  (b), (c) and (d)
(3) (b)and(c) (4) (c)only

10.  Which of the following are the fundamental duties ?
(@) To respect the National Flag.
(b) To protect and improve the natural environment.
(c) For a parent to provide opportunities for education to his/her child.
(d) To protect monuments and places of national importance.
Select the correct answer from the codes given :

Codes :
(1) (a), (b) and (c) (2) (a), (b) and (d)
(3) (@), (c)and (d) 4) (@), (b), (c) and (d)

11.  Which of the following statements are correct in respect of Niti Aayog ?
(@ Itisa constitutional body.
(b) Itisa statutory body.
(c) Itis neither a constitutional body nor a statutory body.
(d) Itisathink-tank.
Select the correct answer from the codes given below :
(1) (a)and (d) (2) (b)and (d)
(3) (c)and(d) (4)  (b), (c) and (d)

12.  Which of the following core values among the institutions of higher education are
promoted by the NAAC (National Assessment and Accreditation Council) ?
(@ Contributing to national development.
(b) Fostering global competencies among the students.
(c) Inculcating a value system among students and teachers.
(d) Promoting the optimum utilization of the infrastructure.
Select the correct answer from the codes given below :

Codes :
(1) (b), (c) and (d) (2) (a), (b) and (c)
(3) (@), (c)and (d) 4) (@), (b), (c) and (d)

13. The best way for providing value education is through
(1) discussions on scriptural texts (2) lectures / discourses on values
(3) seminars / symposia on values (4) mentoring / reflective sessions on values

14. The National Judicial Appointments Commission (NJAC) has been declared
unconstitutional by
(1) The Supreme Court of India
(2) The High Court
(3) The High Court and the Supreme Court both
(4) The President of India
D-00 4
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15. Which set of learner characteristics may be considered helpful in designing effective
teaching-learning systems ? Select the correct alternative from the codes given below :

(i)  Prior experience of learners in respect of the subject.

(it)  Interpersonal relationships of learner’s family friends.

(iii)  Ability of the learners in respect of the subject.

(iv) Student’s language background.

(v) Interest of students in following the prescribed dress code.

(vi) Motivational-orientation of the students.

Codes :
@) (), (i), (iii) and (iv) (2) (i), i), (iv) and (vi)
(3) (i), (iii), (iv) and (v) (4) (iii), (iv), (v) and (vi)

16. A college level assistant professor has planned his/her lectures with an intent to develop
cognitive dimensions of students centered on skills of analysis and synthesis. Below,

given are two sets of items Set — | consisting of levels of cognitive interchange and
Set — Il comprising basic requirements for promoting them. Match the two sets and
indicate your answer by choosing the correct alternative from the code :
Set-1 Set— 11
(Levels of Cognitive (Basic requirements for promoting cognitive
Interchange) interchange)
a.  Memory level I. Giving opportunity for discriminating

examples and non-examples of a point.

b.  Understanding level ii. Recording the important points made

during the presentations.

c.  Reflective level iii. Asking the students to discuss various
items of information.

iv.  Critically analyzing the points to be made
and discussed.

Codes :

a b C
@ i v
(2) i vl
(3) ii i v
4 i i i
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17. Match the items of the first set with that of the second set in respect of evaluation system.
Choose the correct code :

Set-1 Set-11
a. Formative evaluation I. Evaluating cognitive and co-cognitive
aspects with regularity
b.  Summative evaluation ii.  Tests and their interpretations based on a
group and certain yardsticks
c.  Continuous and iii.  Grading the final learning outcomes

comprehensive evaluation
d.  Norm and criterion referenced iv. Quizzes and discussions

tests
Codes :

a b c d
@) iv i i ii
2 i i i v
(3) i v i i
4) i i iv i

18. Select the alternative which consists of positive factors contributing to effectiveness of
teaching :
List of factors :
(@) Teacher’s knowledge of the subject.
(b) Teacher’s socio-economic background.
(c) Communication skill of the teacher.
(d) Teacher’s ability to please the students.
(e) Teacher’s personal contact with students.
(f)  Teacher’s competence in managing and monitoring the classroom transactions.

Codes :
(1) (b), (c) and (d) (2) (c), (d)and (f)
(3) (b), (d)and (e) (4) (a), (c) and (f)

19. The use of teaching aids is justified on the grounds of
(1) attracting students’ attention in the class room.
(2) minimising indiscipline problems in the classroom.
(3) optimising learning outcomes of students.
(4) effective engagement of students in learning tasks.

20. Assertion (A) : The purpose of higher education is to promote critical and creative
thinking abilities among students.
Reason (R) : These abilities ensure job placements.
Choose the correct answer from the following code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) (A)is false but (R) is true.
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In qualitative research paradigm, which of the following features may be considered critical ?
(1) Data collection with standardised research tools.

(2) Sampling design with probability sample techniques.

(3) Data collection with bottom-up empirical evidences.

(4) Data gathering to take place with top-down systematic evidences.

From the following list of statements identify the set which has negative implications for

‘research ethics’ :

(1)  A-researcher critically looks at the findings of another research.

(i)  Related studies are cited without proper references.

(iii) Research findings are made the basis for policy making.

(iv) Conduct of practitioner is screened in terms of reported research evidences.

(v) A research study is replicated with a view to verify the evidences from other
researches.

(vi) Both policy making and policy implementing processes are regulated in terms of
preliminary studies.

Codes :
@) (), (i) and (iii) (2) (i), (iii) and (iv)
(3) (i), (iv) and (vi) (4) (D), (iii) and (v)

In a research on the effect of child-rearing practices on stress-proneness of children in
completing school projects, the hypothesis formulated is that ‘child rearing practices do
influence stress-proneness’. At the data-analysis stage a null hypothesis is advanced to
find out the tenability of research hypothesis. On the basis of the evidence available, the
null hypothesis is rejected at 0.01 level of significance. What decision may be warranted
in respect of the research hypothesis ?

(1) The research hypothesis will also be rejected.

(2) The research hypothesis will be accepted.

(3) Both the research hypothesis and the null hypothesis will be rejected.

(4) No decision can be taken in respect of the research hypothesis.

A researcher intends to explore the effect of possible factors for the organization of
effective mid-day meal interventions. Which research method will be most appropriate for
this study ?

(1) Historical method (2) Descriptive survey method

(3) Experimental method (4) Ex-post-facto method

Which of the following is an initial mandatory requirement for pursuing research ?
(1) Developing a research design

(2) Formulating a research question

(3) Deciding about the data analysis procedure

(4) Formulating a research hypothesis

The format of thesis writing is the same as in
(1) preparation of a research paper/article

(2) writing of seminar presentation

(3) aresearch dissertation

(4) presenting a workshop / conference paper

10
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TOTcH I o WA H, Fefated § @ S 9 [T s Je<equl 7T ST 96T 8 ?
(1) THIFH I SYHN ! TeTT T TS T Ghor T |

(2) T UARY Ak Wled UagsT =@ i IEHeT |

(3) VR % TRl § SisArTHfes |ed b (T 9 e TRIFdl i SR SgEdT |
(4) =39 A Fafera dedl |ied Ted S |

fAfafad el o galt ¥ 39 U Hi fafeTd Hie, [SHes oY sl ATdewdl’ W RIS TE

TS E

(i) el SO 9Ny & Fshet I STTetieHTe gt SefdT & |

(i)  Sfod Hewt & fomr Tefud stemam ot 33y fohal ST & |

(iii) e % f7epe =Aifq fmTor 1 UR e € |

(iv) WERITTE STe QAT o 3R I STeRbBATS o STTE0T T URIeT0T fehall STt & |

(V) 3T el o WIEAT T [T R Rl g Y 3T i g € H e ferar
ST |

(vi) T fFmror SR it fharemm 3T uiskansti S wRive STt o YR OX ufquiea foar
ST |

%

) (), (i) 3 (iii) @ (i), (iii) % (iv)

3) (i), (iv) & (vi) @) (), (iii) 3R (v)

forener- RS Sl 7 A | Fedi Sl Aideet SgEdr W RIS] ue TR o WTe Heet o
i afeheamr @ & T ‘R UTe SRR @1 UideeT SRl W STeEvd WE ggdl § I R
farector =it eTam | Y IR il Wi 1 Udl i & [T [ URehedT Sl TRaterd
feFaT ST & | SUeTed TR & 3TMYR W ¥ INehedAT i Tl & .01 TR T 3SR fohar
ST € | 9y R % GaY | o7 T STufeTd € 2

(1) vy IREEAT St off SREHR o S |

(2) I URBHEIAT i THR HaT T |

(3) vy URSHETT SR I UREEIT I Sl STEHR o s |

(4) I URFHIAT & Hag | Hig o™ Tet forar ST dpar € |

Iig g e YTt fHeg Wt s%qeiT & ST o [T Heiferd ShReh & UTe ST Il o
AT & A STTHEH B! i T TF1d 39 376997 & fod waram et 2

(1) uideras =i (2) U T Tl

(3) WETICH YTd (4) HERR gFa

I A & TIT FeAfeiad & § i 9 SR eI o 37eT & ?
(1) oFEYH AT faehad T |

(2) ITTHEH-I TR KT |

(3) weH faveryur uihar o Hay H Ui o |

(4)  STTEUH-URGHETAT TS FHET |

IMY-yeY foae T U ol BT & it Fefetiad o g €

(1) INY-T/E TR HET | (2) T TRCHHROT HT TG
(3) vy % oTERNY-vEd | (4)  FEAVTHAT H oG W& HET |
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Read the following passage carefully and answer question numbers from 27 to 32 :

In terms of labour, for decades the relatively low cost and high quality of Japanese workers
conferred considerable competitive advantage across numerous durable goods and consumer-
electronics industries (eg. Machinery, automobiles, televisions, radios). Then labour-based
advantages shifted to South Korea, then to Malaysia, Mexico and other nations. Today, China
appears to be capitalizing best on the basis of labour. Japanese firms still remain competitive in
markets for such durable goods, electronics and other products, but the labour force is no longer
sufficient for competitive advantage over manufacturers in other industrializing nations. Such
shifting of labour-based advantage is c[earlty not limited to manufacturing industries. Today, a huge
number of IT and service jobs are moving from Europe and North America to India, Singapore, and
like countries with relatively well-educated, low-cost workforces possessing technical skll_ls.
However, as educational levels and technical skills continue to rise in other countries, India,
Slnﬁapore, and like nations enjoyln% labour-based competitive advantage today are likely to find
such advantage cannot be sustained through emergence of new competitors. )

In terms of capital, for centuries the days of gold coins and later even paper money restricted
financial flows. Subsequently regional concentrations were formed where large banks, industries
and markets coalesced. But today capital flows internationally at rapid speed. Global commerce no
longer requires regional interactions among business players. Regional capital concentrations in
places such as New York, London and Tokyo still persist, of course, but the capital concentrated
there is no longer sufficient for competitive advantage over other capitalists distributed worldwide.
Only if an organization is able to combine, integrate and apply its resources (eg. Land, labour,
capital, IT) in an effective manner that is not readily imitable by competitors can such an
organization enjoy comﬂetltlve advantage sustainable overtime. o

In a knowledge-based theory of the firm, this idea is extended to view organizational knowledge as
a resource with atleast the same level of power and importance as the traditional economic inputs.
An organization with superior knowledge can achieve competitive advantage in markets that
aﬂpremate _the application _of such knowled?_e. Semiconductors, —genetic  engineering,
pharmaceuticals, software, military warfare, and like knowledge-intensive competitive arenas
provide both time-proven and current examples. Consider semiconductors (e.g. computer chips),
which are made_pr|n0|pa_llﬁ/_ of sand and common metals. These ubiquitous and powerful electronic
devices are designed within common office buildings, using commercially available tools, and
fabricated within factories in many industrialized nations. Hence, land is not the key competitive
resource in the semlconductorlndustr?/. ] )

Based on the passage answer the following questions :

27. What is required to ensure competitive advantages in specific markets ?
(1)  Access to capital (2) Common office buildings
(3) Superior knowledge (4) Common metals

28. The passage also mentions about the trend of
(1) Global financial flow
(2)  Absence of competition in manufacturing industry
(3) Regionalisation of capitalists
(4) Organizational incompatibility

29. What does the author lay stress on in the passage ?

(1) International commerce (2) Labour-Intensive industries

(3) Capital resource management (4) Knowledge-driven competitive advantage
30.  Which country enjoyed competitive advantages in automobile industry for decades ?

(1) South Korea (2) Japan

(3) Mexico (4) Malaysia

31. Why labour-based competitive advantages of India and Singapore cannot be sustained in IT
and service sectors ?
(1) Due to diminishing levels of skill.
(2) Due to capital-intensive technology making inroads.
(3) Because of new competitors.
(4) Because of shifting of labour-based advantage in manufacturing industries.

32. How can an organisation enjoy competitive advantage sustainable overtime ?
(1) Through regional capital flows.
(2) Through regional interactions among business players.
(3) By making large banks, industries and markets coalesced.
(4) By effective use of various instrumentalities.

D-00 12
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The choice of communication partners is influenced by factors of
(1) Proximity, utility, loneliness

(2) Utility, secrecy, dissonance

(3) Secrecy, dissonance, deception

(4) Dissimilarity, dissonance, deviance

As a teacher, select the best option to ensure your effective presence in the classroom.
(1) Use of peer command

(2) Making aggressive statements

(3) Adoption of well-established posture

(4) Being authoritarian

Every communicator has to experience
(1) Manipulated emotions

(2) Anticipatory excitement

(3) The issue of homophiles

(4) Status dislocation

Imagine you are working in an educational institution where people are of equal status.
Which method of communication is best suited and normally employed in such a context ?

(1) Horizontal communication
(2) Vertical communication
(3) Corporate communication
(4) Cross communication

Identify the important element a teacher has to take cognizance of while addressing
students in a classroom.

(1) Awvoidance of proximity
(2) Voice modulation

(3) Repetitive pause

(4) Fixed posture

What are the barriers to effective communication ?

(1) Moralising, being judgemental and comments of consolation.
(2) Dialogue, summary and self-review.

(3) Use of simple words, cool reaction and defensive attitude.
(4) Personal statements, eye contact and simple narration.
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TUWOT AT B =I5 foh R FRT T el € 2
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A person walks 10 m infront and 10 m to the right. Then every time turning to his left, he
walks 5, 15 and 15 m respectively. How far is he now from his starting point ?

(1) 20m (20 15m

3 10m (4 5m

A is sister of B. F is daughter of G. C is mother of B. D is father of C. E is mother of D. A
is related to D as

(1) Grand daughter (2) Daughter
(3) Daughter-in-law (4) Sister

In the series

AB, EDC, FGHI, ....7...., OPQRST, the missing term is
(1) JKLMN (2) JMKNL
(3) NMLKJ (4) NMKLJ

Among the following propositions two are related in such a way that one is the denial of
the other. Which are those propositions ? Select the correct code :
Propositions :

(@) All women are equal to men

(b) Some women are equal to men

(c) Some women are not equal to men

(d) Nowomen are equal to men

Codes :

(1) (a)and (b)

(2) (a)and (d)

(3) (c)and(d)

(4) (a)and(c)

In certain code, SELECTION is coded as QCJCARGML. The code of AMERICANS will
be

(1) YKCPGAYLQ

(2) BNFSIDBMR

(3) QLYAGPCKY

(4) YQKLCYPAG

In the series

3,11, 23, 39, 59, ..........

The next term will be

(1) 63 (2) 73
(3) 83 (4) 93

Two railway tickets from city A to B and three tickets from city A to C cost ¥ 177. Three
tickets from city A to B and two tickets from city A to C cost ¥ 173. The fare for city B
from city A will be ¥

(1) 25 (2 27

(3) 30 4) 33
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T SR 310 | 31X 10 HieX 3R 3MfeT 2T 10 Hiex Ford & | TR a8 1o amlt 31 8-
e A 5, 15 3R 15 HeX Il & | 9% 39 THT 310 3R {95 | fehet g0 W e 2

(1) 20 (2) 15

(3) 10 (4) 54

A B®HTAE F,GH YT, C, B Tmar ¢, D, C & TUar &, E, D &l A1 &, A % D § &y
%-.

(1) e X (@ (2) =X @

(3) STEXEA-Al (T (4) TORX (J)

et AB, EDC, FGHI, ....7...., OPQRST H ST geN U5 & :

(1) JKLMN (2) JMKNL

(3) NMLKJ (4) NMKLJ

frfefad st § 3t 39 TR Tafad & fF 9 Uh-g & RIS ¢ | F e SH-9
£ 7 W& P T T FINT

rfrper

(a) T OfeeTd gout % SRIeR Bietl & |
(b) T Hfeemd TEu & aER Bt ¢ |
(c) P UEwATd T&UT % SRR el &l & |
(d) g ot AfeeT ToOT % SRR F&l erdl & |

?c" :

1) (a) R (b) (2) (a)#R®(d)

3) () &= (d) (4) (a) 3R (c)
Haud %< H, SELECTION & % QCICARGML & AMERICANS T %< & :
(1) YKCPGAYLQ (2) BNFSJDBMR
(3) QLYAGPCKY (4) YQKLCYPAG
SIEl]

3,11, 23,39,59, ...

T STl He gt

(1) 63 (2) 73

(3) 83 (4) 93

Ad B I g It fewel 3T A E C I &l diF ot fewmel sl ®ma T 177 8 | A ¥ B I8 &t
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(1) %25 (2) %27

(3) 30 (4) %33
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Select the code which is not correct in the context of deductive argument with two
premises :

(1) Anargument with one true premise, one false premise and a false conclusion may be
valid.

(2) Anargument with two true premises and a false conclusion may be valid.

(3) Anargument with one true premise, one false premise and a true conclusion may be
valid.

(4) Anargument with two false premises and a false conclusion may be valid.

Given below are two premises and four conclusions are drawn from them (taking singly or
together). Select the code that states the conclusions validly drawn.

Premises : (i)  All religious persons are emotional.
(i) Ram is a religious person.
Conclusions: (a) Ram is emotional.
(b)  All emotional persons are religious.
(c) Ram is not a non-religious person.
(d) Some religious persons are not emotional.

Codes :
(1) (@), (b), (c) and (d)
(2) (a) only

(3) (a)and (c)only
(4) (b)and (c) only

If the proposition “All thieves are poor’ is false, which of the following propositions can
be claimed certainly to be true ?

Propositions :

(1) Some thieves are poor.

(2) Some thieves are not poor.

(3) No thief is poor.

(4) No poor person is a thief.

Consider the following statement and select the correct code stating the nature of the
argument involved in it :

To suppose that the earth is the only populated world in the infinite space is as absurd as
to assert that in an entire field of millet only one grain will grow.

(1) Astronomical (2) Anthropological
(3) Deductive (4) Analogical

Select the code which is not correct about Venn diagram :

(1) Venn diagram represents propositions as well as classes.
(2) It can provide clear method of notation.

(3) Itcan be either valid or invalid.

(4) It can provide the direct method of testing the validity.
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39 P I TG HITIT, S T SRS ATt T T o TG H Tl Tal ¢
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The following table shows the percentage profit (%) earned by two companies A and B
during the years 2011-15. Answer questions 51-53 based on the data contained in the table :

Where, percent (%) Profit =

51.

52.

53.

D-00

Profit earned by two companies

Percentage Profit (%0)

Year

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

Income — Expenditure

Expenditure

%100

If the total expenditure of the two companies was ¥ 9 lakh in the year 2012 and the
expenditure of A and B were in the ratio 2 : 1, then what was the income of the company

A in that year ?
(1) T9.2lakh
(2) T8.1llakh
(3) T7.2lakh
(4) 6.0lakh

What is the average percentage profit earned by the company B ?

(1) 35%
2) 42%
(3) 38%
4)  40%

In which year, the percentage profit earned by the company B is less than that of company

A?
(1) 2012
(2) 2013
(3) 2014
(4) 2015
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frafataa arfaer # a¥ 2011-15 &% SR A AT B AW 3 HAHal gRT ATTd a1 &
TFTSTaaT (%) T9ME TS T | W9 51-53 T I ATfereht | fIT Ue % e a7 AT |

T Hufaat gRT A e
" AT Tt AfT9TAaT (%)

A B
2011 20 30
2012 35 40
2013 45 35
2014 40 50
2015 25 35

TR, B A AT (%) T = ———— x 100

51. af 31 Ul 1 et =, a9 2012 H 9 MG T o7 3T A 3R B % FF I AN 2 ¢ 1 AT, dr
3T 99 H HUAT A i ST 4 A 0

(1) %92 wmg 2) 8.1

(3) 727ma 4) 6.0

52. Ul B §RT AR o i S Wirerear = € 2
(1) 35 wfaee (2) 42 viaeE
(3) 38 Wicrwr (4) 40 wferer

53. @ oW § U B §RT 3ATSTd oI ! UTeIadr, shael A §RT 3T1sTd oI bl HTaeiddl § A & 2
(1) 2012 (2) 2013

(3) 2014 (4) 2015
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The following table shows the number of people in different age groups who responded to
a survey about their favourite style of music. Use this information to answer the questions
that follow : (Question 54-56) to the nearest whole percentage :

54.

55.

56.

57.

58.

59.

60.

D-00

Number of people
Age — | (Years) | (Years) | (Years)
Style of 15-20 21-30 31+
Music {
Classical 6 4 17
Pop 7 5 5
Rock 6 12 14
Jazz 1 4 11
Blues 2 3 15
Hip-Hop 9 3 4
Ambient 2 2 2
Approximately what percentage of the total sample were aged 21-30 ?
(1) 31% (2) 23%
(3) 25% (4) 14%

Approximately what percentage of the total sample indicates that Hip-Hop is their
favourite style of music ?

(1) 6% (2) 8%

(3) 14% 4) 12%

What percentage of respondents aged 31+ indicated a favourite style other than classical
music ?

(1) 64% (2) 60%

(3) 75% (4) 50%

An unsolicited e-mail message sent to many recipients at once is a
(1) Worm (2) Virus

(3) Threat (4) Spam

The statement “the study, design, development, implementation, support or management
of computer-based information systems, particularly software applications and computer
Hardware” refers to

(1) Information Technology (IT)

(2) Information and Collaborative Technology (ICT)
(3) Information and Data Technology (IDT)

(4) Artificial Intelligence (Al)

If the binary equivalent of the decimal number 48 is 110000, then the binary equivalent of
the decimal number 51 is given by

(1) 110011 (2) 110010
(3) 110001 (4) 110100
The process of copying files to a CD-ROM is known as
(1) Burning (2) Zipping
(3) Digitizing (4) Ripping
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Frafafae Aiferer # TR SAerT-3erT og WHE | A i guirar T €, i s uHe & w6t
Jiell % Wete § oy Ty weeror # IR fE@r | 39 gEAn &y A &R T uee (54-56) %1 S a
% T HIAT | S I Frbeaw qot nirere & SR W E

54.

55.

56.

57.

58.

59.

60.

D-00

AT W |
g | (@) () ()
| 15-20 21-30 31+
1 Hett |
I 6 4 17
g 7 5 5
EED 6 12 14
Sl 1 4 11
=TT 2 3 15
feu-gta 9 3 4
i 2 2 2
o1 UFIReT ST ST fefeT wifereTet 21-30 3T & & ?
(1) 31% (2) 23%
(3) 25% 4) 14%
T ATAGST T TR FeheT Ut 8 Tl S ¢ o f§U-8T0 S9eh! T8 o Tl 91t & ?
(1) 6% (2) 8%
(3) 14% 4) 12%
31+ 3T & STRGIATSH o Tohe UfeTeTd = I Sl & feT TigiaT Siedt bt SR foham & 2
1) 64% 2) 60%
(3) 75% (4) 50%
T ATTShaTaTl bl X AST AT ST $-Het i el ST &
1 =™ 2) =E
3) ue 4) =

g FHUT — “HHT MR GaT TOTelt 1 316, 1ehed, T, fharaaa, wres ar yeem,
(1) o drfie (emEd) 4 |

(2) I SR YT SN TnfiTehl (M) T |

(3) gEAT 3 UG UiEnfiTeh! (SMETEL) T |

(4) FOWIF (TIME) T |

Il eI T 48 1 F3aRl ¥Hdqes 110000 &, d e e 51 1 F3imemt 9odqed &
(1) 110011 (2) 110010

(3) 110001 (4) 110100

TS Y T HIE Bl BT HI St UTHAT T T STHT ST €

(1) st (2) ffom

(3) fefsterfom (4) ffom
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Answer Key:-

Q. No. Ans. No. Q. No. Ans. No.
1 1 31 3
2 2 32 4
3 4 33 1
4 2 34 3
5 2 35 2
6 3 36 1
7 1 37 2
8 3 38 1
9 & 39 4
10 1 40 1
11 3 41 3
12 2 42 4
13 4 43 1
14 1 44 3
15 2 45 4
16 3 46 2
17 1 47 3
18 4 48 2
19 3 49 4
20 2 50 3
21 3 51 2
22 3 52 3
23 2 53 2
24 4 54 3
25 2 55 4
26 3 56 3
27 3 57 4
28 1 58 1
29 4 59 1
30 2 60 1




